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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367545
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983678655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the last letter in the following letter series.

AE, IRV,
Options:

1. = B
2. » H
3.% A
4. v C

Question Number : 1 Question Id : 9983678655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foTeeT 376TT HTell H 3MTAH 38T AT HL|

A E PV,

Options:

1. = B
2. = H
3. % A
4. v C

Question Number : 2 Question Id : 9983678656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the last letters in the following letter series.

KJL, ONP, SRT, WVX, AZB,
Options:

1. v EDF
2. » EFD
3. = DCE
4. = CDE

Question Number : 2 Question Id : 9983678656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foTeeT 376TT HTell H 3MTAH 38T AT HL|

KJL, ONP, SRT, WVX, AZB,

Options:

1. v EDF
2. = EFD
3. = DCE
4. = CDE

Question Number : 3 Question Id : 9983678657 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

forFafolf@d TeaT &, fCU 910 o c@RT 31 Gehedl & & U
Aehed arfod A&7 RAT ST HahdT| 39 S I Tt

ENCYCLOPEDIA

Options:

1. = CYCLE
2. = PEACE



3. = CAPED
4. v CLARE

Question Number : 3 Question Id : 9983678657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, one of the option cannot be formed
by the word, given in the question. Find that word.

ENCYCLOPEDIA

Options:

1. = CYCLE
2. » PEACE
3. = CAPED
4. v CLARE

Question Number : 4 Question Id : 9983678658 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Car
2. % Bus
3. = Jeep
4, v Boat

Question Number : 4 Question Id : 9983678658 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fow v [eredl & 4, dI v AT s @ 9@ T &
gTellTeh, Ueh Tahed 3o dlel T dE o1al &l 39 dhed
T hd Sl HeT F AT &l




Options:

1. % hIT
2. = 89
3. % ST
4. v ®C

Question Number : 5 Question Id : 9983678659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = MNO
2. v WSF
3. = YZA
4. » KLM

Question Number : 5 Question Id : 9983678659 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fev arv @ereul & &, A9 v Afgaa adis & gATT &

BTeliTeh, Ueh [@eheq 3T dlel ST diE aal &1 39 @heq
TTeT P SIf e T 3ol9T &

Options:

1. = MNO
2. v WSF
3. = YZA
4. = KLM

Question Number : 6 Question Id : 9983678660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. = Feet : Shoes
2. » Head : Cap
3. = Neck : Tie
4. v Legs : Shirt

Question Number : 6 Question Id : 9983678660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 aredy # o&al I 3 SAf2AT THATT T & afad &
AT v AET Moo &7 & IfAT &1 39 AET # AT FE S
3ol g & TEad gl

Options:

1. = 9 : S
2. = fav : o
3. = ICe : TS
4. v 9T : o1&

Question Number : 7 Question Id : 9983678661 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Hen : Coops :: Dog :?
Options:

1. = Stable
2. v Kennels
3. = Den



4, « Holes

Question Number : 7 Question Id : 9983678661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« Y S dIaX U8 8 38T TR & T@aidd &
o 7hT & Ugell U g 9% & Faiad gl

HIT : T - FecdT = ?
Mo , ot
Options:

1. = &l
2. v ohalol
3. % Zof

4. = gred

Question Number : 8 Question Id : 9983678662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

39 [dhed &7 I« Y S dIaX U8 | 38T TR & T@add &
o JhT & Ugell U g 9% & Haiad g

TRG : SQF = RBZ : ?

Options:

1. = OYW
2. v QAY
3. = SCA
4. = TDB

Question Number : 8 Question Id : 9983678662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third term on the same
bhasis as the second term is related to the first term.

TRG : SQF :: RBZ : ?
Options:

1. = OYW
2. v QAY
3. = SCA
4. = TDB

Question Number : 9 Question Id : 9983678663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
bhasis as the second term is related to the first term.

Wood : Trees :: Metal : ?

Options:

1. = Alloy

2. » Non-metal
3. = Element
4. v Ore

Question Number : 9 Question Id : 9983678663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« R ST dIER Ug | 38T TohE & T@a7dd §
o 9} & Ygel U5 g U% H FEAd g

oThar : UT qTg - ?
Options:

1.&%&%11@



2.%3-]'%11@'

3. % dccd
4. v OER

Question Number : 10 Question Id : 9983678664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 461 means 'apple is red’, 246
means 'sea is deep’ and 696 means 'sky looks red’. What
number is the code for 'Red’?

Options:

1.+ 6
2.% 8
3.5 4
4. %5

Question Number : 10 Question Id : 9983678664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh [aTRad &g 99T A, 461 1 37T § 'apple is red', 246 T
3T § 'sea is deep' 3iT 696 T 37T § 'sky looks red'| 'Red’
& TolT &g T &7

Options:

1. v 6
2. % 8
3. = 4
4. = 5

Question Number : 11 Question Id : 9983678665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If CLEANUP is coded as ZIBXKRM, then how will HID be
coded as?



Options:

1. » SRW
2. » GHC
3.v EFA
4. = IJE

Question Number : 11 Question Id : 9983678665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g CLEANUP =1 ZIBXKRM & &7 H hifsd T ATET &, ar
HID T & HIfea = Smwe?

Options:

1. = SRW
2. = GHC
3. v EFA
4. = |JE

Question Number : 12 Question Id : 9983678666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Here are some words from an artificial language.

"pivtem’ means 'handsome’,
'kastem’ means 'someday’
'kasnol’ means 'daytime’

Which word would mean 'lifetime’?

Options:

1. = Kaspow
2. = Redtem
3. = ragpiv
4. v nolrej



Question Number : 12 Question Id : 9983678666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A& U FEAA AW F Fo asg v F

'pivtem' &T 3T & 'handsome!,
'kastem' T 37T & 'someday’
'kasnol' &T 3727 & 'daytime' x

org orsg T 31T 'lifetime' &7

Options:

1. = kaspow
2. = kedtem
3. ® ragpiv
4. v nolrej

Question Number : 13 Question Id : 9983678667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If it was 10:11 PM 4,587 minutes ago, what time is it now?

Options:

1. v 02:38 AM
2. % 05:44 PM
3. 02:38 PM
4. % 05:44 AM

Question Number : 13 Question Id : 9983678667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg 4,587 fafae ggel 10:11 3(WIgal ot &, dr 319 fohda oot
g7

Options:



1. v 02:38 AM
2. = 05:44 PM
3. = 02:38 PM
4. = 05:44 AM

Question Number : 14 Question Id : 9983678668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A$ B means A is daughter of B, A # B means A is sister of B
and If A * B means A 1s mother of B, then what does X $Y * Z
# W mean?

Options:

1. v X is sister of W

2. » X is mother of W

3. = X is sister-in-law of W
4. » X is mother’s sister of W

Question Number : 14 Question Id : 9983678668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

I ASBHRT AT A BHRTIT S, A# B FT 3T A, B T
TET s NI A+« BFRIATA BRI AAE A X $ Y *
Z # W 7 a7 3T §7

Options:

1. v X, W T S8 &

2. % X, WaHT AT &

3. = X, W &I amali/aaie/Siaa/arer &
4. % X, W @1 AT T T8 &

Question Number : 15 Question Id : 9983678669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Vikas's daughter Neeta, said to Leela’s mother Manju, that
your father’s brother’s son is Vikas, then how is Neeta related
to Manju?

Options:

1. = Neeta's father’s brother’s wife is Manju

2. » Neeta's father’s father’s wife is Manju

3. » Neeta's mother is Manju

4. v Neeta's father’s father’s brother’'s daughter is Manju

Question Number : 15 Question Id : 9983678669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tashre 1 ST ST o oftelr T AT FAe & whar, foh 3T [T
& #TS T ST fashrg &, T siiaT FAel & 8 Herad &7

Options:

1. = &1dr & TUAT & #H1S T Ucell T oTH Hof &

2. = Idr & TUAT & U7 $T Teal A &

3. = I T Al Al &

4. v Fr & TUAT & AT & A5 H1 ST AT ATH A §

Question Number : 16 Question Id : 9983678670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anwar, Chintu, Dhruv, Bunty, and Emran are sitting on a
bench. Chintu is between Dhruv and Bunty, Emran is to the
left of Dhruv and Emran is not at the end. Who is to the left of
Emran?

Options:

1. = Chintu
2.« Emran

3. = Bunty
4, v Anwar



Question Number : 16 Question Id : 9983678670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HeAaT, =g, ya, For 3T SHES T 8 W 3 §l ﬁl‘g’\‘{ﬂjﬁsﬂ'{
§eI o &I &, SAUA 4T F 915 3N g 3N THAUS 37T A El g
A & % 3 Hid &7

Options:

1. = g

2. % SEITS
3. % §dr

4. v HAdT

Question Number : 17 Question Id : 9983678671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five class mates were comparing the marks each of them
scored in a test. D's marks are the mean of A's and E's marks.
{’s mark’s are the mean of A's and B's marks. A scored lesser
than C but greater than D. Who got the second highest marks?

Options:

1.+ C
2. % A
3.= B
4, %D

Question Number : 17 Question Id : 9983678671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh h&TT o id {TeT 3o7 o @RI Teh TI&TT H ued fohw arw
3Rl T JeIell T 1@ &1 D & 31k A 3T E & 37hI T AT &
| CF 3F ANTB F 3R FTATT &l Aad C T FH IH
uTe fohe offehel D & 377eeh it fohv| g@R Hafed 3 g
fie?

Options:

1. v C
2. % A
3. = B
4. = D

Question Number : 18 Question Id : 9983678672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements :
I. All camels are horses.
II. No horse is a dog.

Conclusions :
I. No dog is a camel.
II. No camel] is a dog

Options:

1. = Only Conclusion I follows.



2. = Only Conclusion II follows.
3. = Neither of the conclusion follows.
4. v Both I and II follows

Question Number : 18 Question Id : 9983678672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mmwmﬁwﬁaﬁtw@ﬁlmmgv%
FUqT H T IS SATIhRT T &, ol &I T AT AT dzal
+ T R FIG gV fG@s 4 81, 39 fashy 1 aue wY
ot 3T §dE @ W 39 FUeT T dlfeheh T & & 0T
HIAT/RIT BI/ET|

HaTeT:

. @l 3¢ w8 B

Il I$ ST Fecl 7T B
IGLECY R

. I Fedl > oTal &l

I. % FT Feal T &

1. = el TSRy | 376ELOT I &

2. = hadl fshy || 3HTEIOT FIAT |

3. « IS o forshy 37eTEOT &N FIAT B
4. v | 3R 1l gl He[aoT FId B

Question Number : 19 Question Id : 9983678673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements :

I. All dyes are colours

I1. All Pigments are Paints
III. Some dyes are pigments

Conclusions:
I. Some colours are paints
II. No colours are paints

Options:

1. v Only Conclusion I follows.

2. » Only Conclusion II follows.

3. = Both I and II follows

4. = Nelther of the conclusion follows.

Question Number : 19 Question Id : 9983678673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬁmwmﬁwﬁaﬁtmﬁﬁﬁlaﬁm?%
FUAT H 2T IS ATARRT T &, Hol &l I HIT: AT a2l
%wﬁwmﬁyﬁaﬁaﬁﬁ,mmmwsﬁ

St 3T §ag @ W 39 FUe HT dlfcheh T & He 0T
FIdT/FLcT Blifal|

EXIEE

. T SIS T &

. TefT TerdAe e &I
Il. & s Werde g

GRS F
I.iw_aﬁi?TﬁE'g'l
I. S5 T U a8l ol

1. v Fad fashy | 3FEOT FIAT &

2. « shael folshy || 3eTE0T T |
3. % | AT |l 2kl 37eEor I E|
4. » RS Y forsahy 37eTETOT &N FIAT B

Question Number : 20 Question Id : 9983678674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = 168




2. v 256
3. %126
4 %112

Question Number : 20 Question Id : 9983678674 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

feT a7 [Oehedl A 8, did U Toiead dileh 8 AT &

&TollTeh, TUeh Tdehed 3T dlel T oi& oTol &1 39 [hed &

el he ST ST T 3TeldT &1

Options:

1. = 168
2. v 256
3. = 126
4. = 112

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
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Mental Ability?2

2
998367378
0

0
No
No
0
20
No
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0

0
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998367384
1

Online
Mandatory
20



Number of Questionsto be attempted: 20

Section Marks:; 20
Sub-Section Number: 1
Sub-Section Id: 998367546
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9983678675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of numbers are similarly related
and one pair is differently related. Find the pair which is

differently related.
Options:
1.+ 222 :676

2. % 4571913
3. % 112 : 568
4. % 450 : 906

Question Number : 21 Question Id : 9983678675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a0 fakedl & TEAT3 1 3 AT Tk THAT TS &

AT vor SNET 3o aiieh O 9fad &1 39 SIET &l AT HT SN
3ol g & TEad gl

Options:

1. v 222 : 676
2. % 457 : 913
3. = 112 : 568
4. = 450 : 906

Question Number : 22 Question Id : 9983678676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

91:109::94:7
Options:

1.~ 106
2. % 104
3. = 96
4. = 98

Question Number : 22 Question Id : 9983678676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl e ugell HEAT ¥ FEldd ¢

91 : 109 = 94 - ?

Options:

1. ¢ 106
2. = 104
3. = 96
4. = 98

Question Number : 23 Question Id : 9983678677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

95:19:110:7
Options:

1. = 11
2. % 20
3.v 22
4. % 10

Question Number : 23 Question Id : 9983678677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl e ugell HEAT ¥ FEldd ¢

95 - 19 = 110 : ?

Options:

1. % 11
2. % 20
3. v 22
4. % 10

Question Number : 24 Question Id : 9983678678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given equation is incorrect. Which two signs should be
interchanged to correct the given equation?

12-3+8x2+-4=106

Options:



1.« + and x

2. v +and -
3.« xand +
4. = +and +

Question Number : 24 Question Id : 9983678678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feam arar gAY ITora &1 ST 9T gFATRIuT S TEr R
forw Tohet & RIegl o TWEW sFcoldl ANge?

12-3+8x2+4=16

Options:
1. = + 3T x
2. v + 3T -
3. % x AT +
4, = + 3T +

Question Number : 25 Question Id : 9983678679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, '+' represents -, -’ represents 'x’,
"%’ represents '+’ and '+’ represents '+'. Find out the answer to
the following question.

410 + 40 + 540 x 20-15=7?
Options:

1. v 45
2. % 107
3. = 90
4. % 69



Question Number : 25 Question Id : 9983678679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk fafegd &g g &, '+, 2 Fr gfaf@f®e sar g, -,
FT arafaffcg wwar &, 'x', '+ #7 vfafafcg wwar & siv '+,
'+ 7 uldTafded HTdr &1 Tarafai@d wea &7 3cad A il
410 + 40 + 540 x 20 - 15 =7

Options:

1. v 45
2. = 107
3. = 90
4. = 69

Question Number : 26 Question Id : 9983678680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

-6, 7,7,15, 24, 34

Options:

1. % -1
2.v 0
3.1
4, % 2

Question Number : 26 Question Id : 9983678680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forrafolad aear sEer # oadr &A1 AT |

-6, ?, 7, 15, 24, 34

Options:



1. = -1
2.
3. % 1
4. = 2

Question Number : 27 Question Id : 9983678681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

6,52,44,7, 2.8, 2

Options:

1. % 3.8
2.v 3.6
3.% 34
4. % 3.2

Question Number : 27 Question Id : 9983678681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

frrafoad aear sEer # oadr @& AT i

6, 5.2, 44, 7, 2.8, 2

Options:

1. = 3.8
2. v 36
3. = 3.4
4. = 3.2

Question Number : 28 Question Id : 9983678682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The weights of 4 boxes are 33, 4.5, 1.5 and 6 kilograms. Which
of the following cannot be the total weight, in kilograms, of
any combination of these boxes?

Options:

1. = 15
2. % 13.5
3. % 12
4. v 14

Question Number : 28 Question Id : 9983678682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 T3saT T Tofal 33, 4.5, 1.5 3T 6 ThollaTd &I o7 TSedl &
raT ¢ garater T MeateiEaa & O rellamda A shiel @l Fel
ol oIal &I Gohdl &7

Options:

1. = 15
2. % 13.5
3. % 12
4. v 14

Question Number : 29 Question Id : 9983678683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 12@6=4, 15@3=10, 8@2=8§, then find 10@5=?
Options:

1. % 2
2. % 20
3. = 15
4. 4

Question Number : 29 Question Id : 9983678683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



It 12@6=4, 15@3=10, 8@2=8, ar 10@5=7 FTd Hi|

Options:

1. = 2
2. = 20
3. % 15
4. v 4

Question Number : 30 Question Id : 9983678684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between pineapples, apples and fruits?

Options:

B

N

o
2.&" 9

O

ON

.

@,

3. %



Question Number : 30 Question Id : 9983678684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@a # @ i &7 39 3IRT A, 89 AT Fal &
AT GET I g9 TSI S2ATaT &7

Options:




Question Number : 31 Question Id : 9983678685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following figure, rectangle represents drivers, triangle
represents fathers, circle represents artist and square
represents Indians. Which set of letters represents artists who
are either fathers or Indians?

AN m
N \E [

C E |

Options:

1. » BDCE
2. GFH
3.vGF

4. » BDGIH

Question Number : 31 Question Id : 9983678685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feITT=T 3l A, 3T 3Eadl &7 Aldfeieed =l g,
FhIor TOar 1 ufdfaieded ar &, god FahRl FT gidfafdcg
AT & 3R Ter Adr afafafaca war &1 37&RT &7 HieT T
A¢ 3 FAThRT T ATdlaTecd T & Sif 7 ar oar § a1
AT &2

At
NI

- E |

Options:

1. » BDCE
2. = GFH
3. v GF
4. = BDGFH

Question Number : 32 Question Id : 9983678686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

N

Options:



1. «
e
2.0 L
O
3. »
g-
4. v

Question Number : 32 Question Id : 9983678686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3cc 3R H Toe=IfaiEd # & Siel &1 ol wesT 3hpid #
ST a8 0 g & 3TN 9T FoT sl il Hehdl?

v

Options:




Question Number : 33 Question Id : 9983678687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two men A and B start from the same point. A walks 8 ki
northwards, then turns westwards and walks 6 km, then
turns to his right and walks 4 km. B walks 4 km westwards,
then turns northwards and walks 12 km, then turns to his
right and walks 9 km. Where is B now with respect to the
current position of A?

Options:

1. = 11 km west
2. v 11 km east
3. % 19 km east
4. = 19 km west

Question Number : 33 Question Id : 9983678687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& 9% A 3 B U & Tdg @ Tolell F Hd &1 A Seal
3 8 km orem &, TR IR¥A T 3 A3 ST & 3T 6 km
TelcT &, T 319elr 215 3T #sar & 3T 4 km Todr g1 B
TIRTH HT 3 4 km TordT &, TR 3caT T 3T 5T & 37
12 km Terar &, T 319alT a8 3 J3a1 § 3T 9 km Terar &
B, A & TdHTT TATAT & 3F Fal &7

Options:

1. % 11 km 9fea#d




2. v 11 km q@
3. » 19 km q&
4. % 19 km ufeaH

Question Number : 34 Question Id : 9983678688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

—
—
Options:
1. = —

—




Question Number : 34 Question Id : 9983678688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el & el 3TRiT woel 3Tpfd Yeet ST g L

Options:




Question Number : 35 Question Id : 9983678689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

4, v

VoV

JALZAN

VOV
&

ADA




Question Number : 35 Question Id : 9983678689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 910 Aeheur A & i v e9d H{isk 8 AT &

&TellTeh, Ueh Tdeheq 3eg died FT aig a8l &1 39 ™[reT &
TdeT R Sl e § 37eTdT &

Options:

VOV
ANVAN

<]
0
[ 1]

VOV

>V
A<

AP A
VRV

Question Number : 36 Question Id : 9983678690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following answer figure completes the series of
the question figure?

< > D
p™( KX X
DO <

Options:

G B

> &

4. =

Question Number : 36 Question Id : 9983678690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fAFTfeI@T 3cav 3mRfaT & 8§ FiadT gea Mhicr hr szer
T AT HAT &

<] > D
& X b
DG <

Options:

G D

> D

Question Number : 37 Question Id : 9983678691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given answer figure, select the one in which the
question figure is hidden / embedded.

Options:

4 =

Question Number : 37 Question Id : 9983678691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& ¢ 3 RN 7 8, 37 UH HT Tl Y [oTTH Teal
3pfa ffga &

Options:




Question Number : 38 Question Id : 9983678692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

Options:

>, N
O

Question Number : 38 Question Id : 9983678692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teel IMFIT A AT TET a4 gHhs T AR 3HH
3 U a0 &1 & 9% 3 3ot &, P9 Y 6 8 Fet
el 9T I§ HE E@S Il

Options:
ONV O
AN 2]
L ~N
1. v 124100
e B
A N
N 7
7 % UN 7 U
PARAN
000K
=] El B [
3 x N [/
N
E.<> <>.d
y ]
4. = <>.cﬂ[2:.<>

Question Number : 39 Question Id : 9983678693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

N
O

M N
Options:

\s
Lo
\é
N

4 v

Question Number : 39 Question Id : 9983678693 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Ifg Uk YOT il 3T/ MN 9T 3TT 9= &, af shied IT 3cal
HTRT & 5 3Rl &7 Far gor ufafeer g7

N
N
N\
N
1. =
oo
/]
S
3. %




@
/]

Question Number : 40 Question Id : 9983678694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out from amongst the four alternatives as to how the
pattern would appear when the transparent sheet is folded at
the dotted line.




44N

Nl
/d\ [

Question Number : 40 Question Id : 9983678694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR fashent # & I§ qaT Y T [WeggR @ 9T aReslt wwere
T Agal W ARIa F femms 39m

3
_‘l
4

Options:

/
4 <&
4|

1. =
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983678695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AEST & cAIER H, TR dca Hr IS HT T &7

Options:

1. v 39T
2. % 9ral
3. % dY
4, = #qA

o,

Question Number : 41 Question Id : 9983678695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the festival of Lohri, which element is worshipped?

Options:

1. v Fire
2. = Water
3. = Alr

4. » Land

Question Number : 42 Question Id : 9983678696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was built by Akbar to commemorate his victory over
Gujarat in 1601.

Options:

1. v Buland Darwaza
2. » Agra Fort



3. » Allahabad Fort
4. = Begum Shahi Mosque

Question Number : 42 Question Id : 9983678696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I 3ha ZdRT 1601 H ToRIT W 3T S T
gqie, H FT AT 24T

Options:

1. v gdq STl
2. = 3IRT Torell

3. = Sollarare Toholl
4, = FIH AT AT

Question Number : 43 Question Id : 9983678697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which state of India is associated with the traditional folk
theatre form known as "Tamasha’?

Options:

1. = Goa
2. ® Assam

3. » Kerala
4. v Maharashtra

Question Number : 43 Question Id : 9983678697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T hied 9T T “THIRT THE YRYNE oleh EOET &

Options:

1. % anar
2. = 3OH




3. % &hicl
4. v ASRISE

Question Number : 44 Question Id : 9983678698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kajari folk music is related to which state?

Options:

1. * Jammu & Kashmir
2. v Uttar Pradesh

3. = Himachal Pradesh
4. = Assam

Question Number : 44 Question Id : 9983678698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ol olleh TN Toh T & TFATaT &7

Options:

1. » SIFA-FER

2. v 3cd¥ ucer

3. = TEHATIS Uder
4. « 3TH

Question Number : 45 Question Id : 9983678699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first Indian Governor of Reserve Bank of India?

Options:

1. v Shri C.D. Deshmukh
2. » Benegal Rama Rau
3. » K. G. Ambegaonkar
4. = H. V. R Iyengar

Question Number : 45 Question Id : 9983678699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



O Roa sF & TUH ARG J<A9Tel shid 47

Options:

1. v ST @I, 3r. ?T%@E
2. % dadrel AT T3

3. % o S FSINTR

4, = U, dT. AN, AR

Question Number : 46 Question Id : 9983678700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who presented the first Union Budget of independent India
on November 26, 19477

Options:

1. v R K Shanmukham Chetty
2. » Morarjl Desal

3. » Jawaharlal Nehru

4. = P Chidambaram

Question Number : 46 Question Id : 9983678700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

26 dAge, 1947 T TadT HANT T UgdT Fald dolc [hdel OeT
orar ar?

Options:

1. v 3R & qAHEH LT
2. » ANNSIT GHTS

3. » SIATEIelTel Ag®
4.

« UT RIgeH

Question Number : 47 Question Id : 9983678701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




What is the minimum support price (MSP) of fair average
quality of raw jute for 2019-20 season?

Options:

1. v Rs. 3,950 per quintal
2. = Rs. 3,700 per quintal
3. = Rs. 3,850 per quintal
4. = Rs. 4,000 per quintal

Question Number : 47 Question Id : 9983678701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019-20 & ToIv s S HT1 a3 IOl FT TATH
AL Hed (VATHUT) T §7

Options:

1. v &9 3,950 ufd fFacer
2. = 0 3,700 9iq Traee
3. = & 3,850 Uid foaee
4. = T 4,000 9iT Toaee

Question Number : 48 Question Id : 9983678702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fingernails in food 1s an example of contamination.

Options:

1. v physical
2. = biological
3. = chemical
4. = natural

Question Number : 48 Question Id : 9983678702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HsTel H AT HENUT T Teh 30T &

Options:




v ﬁﬂ'%ﬂ?
T ICED
« AT

x UThidh

=

ol

Question Number : 49 Question Id : 9983678703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In system along with domestic sewage, the run-off
resulting from storms is carried through the same conduit of
sewerage system.

Options:

1. = partially combined

2. v combined
3. % separate
4. = partially separate

Question Number : 49 Question Id : 9983678703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 3TSTel & HTU-ET YOIl #H, JWlel & HROT
§&a dTell UTeil Tolehd WUTTel <hl ek &T alTell & gdT &l

Options:

1. = €I &9 & g
2.&"@%’
3. % 3TeldT
4. = 3ITeh ®T & 37em9T

Question Number : 50 Question Id : 9983678704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is not a water disinfection
method?



Options:

1. = Boiling

2. = Chlorination
3. = Ceramic filters
4. v Lunar rays

Question Number : 50 Question Id : 9983678704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & &l &1 ek ST FrerorRngs fafer @3¢ &7

Options:

1. % 3&clall

2. *= FRIATRIOT
3. = TR+ et
4. v TIE T RI0T

Question Number : 51 Question Id : 9983678705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does an Ammeter measure?

Options:

1. = Length

2. v Electric current

3. = Intensity of sound
4. = Intensity of colours

Question Number : 51 Question Id : 9983678705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIFACT T 39T &8 AT & Tolw ToaT Srar 87

Options:
1. % odS

2. v 'raq;gd ]




3. » €gfer shT drgar
4. % T3 =hT dlgdT

Question Number : 52 Question Id : 9983678706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the chemical name of table salt?

Options:

1. = Calcium Oxide

2. » Calcium Hydroxide
3. v Sodium Chloride

4, = Sucrose

Question Number : 52 Question Id : 9983678706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LY haal [ —
csel dliec onl Jdl]ladden dlHd ol %_7

Options:

1. % hicRIIH ITFASS
2. = FleRIH BIS3IFUISS

3. v QIfsTH FaRES
4. = FEIART

Question Number : 53 Question Id : 9983678707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following enzymes splits proteins into amino
acids?

Options:

1. = Lipolytic Enzyme

2. v Proteolytic Enzyme
3. » Amylolytic Enzyme
4. = Nucleolytic Enzyme



Question Number : 53 Question Id : 9983678707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafel@d & & i 1 Ufhvd WIcTeT sl HHTAT 37FT H
SIEGINYS

Options:

1. » TedIesicsh TasH

2. v AIE3tesies TAsH
3. = UHSAIelch UASH
4. » sYfFoIreNsicHd TATSH

Question Number : 54 Question Id : 9983678708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the common name of Ocimum sanctum?

Options:

1. = Neem

2. » Sandalwood
3. v Tulsi

4. = Banyan

Question Number : 54 Question Id : 9983678708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HETHA HFed FT QTIRUT dTH F4T 87

Options:

1. = oIH
2. % sl
3. v JorT
4. = §IEIG

Question Number : 55 Question Id : 9983678709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which animal is preserved in the "Dachigam National Park™?



Options:

1. = Siberian Crane
2. » Musk Deer

3. v Hangul

4. = Golden Oriole

Question Number : 55 Question Id : 9983678709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SRITH TS 3cdTel" H shied HT STelal FIard &7

Options:

1. » TSN shal (TH)
2. % FEQY f&¥a

3. ¢ gletael

4. = Mesd AT

Question Number : 56 Question Id : 9983678710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which type of soll requires least tilling because of its
characteristics of self-ploughing?

Options:

1. v Black Soil

2. » Red Soil

3. = Alkaline Soil
4. = Laterite Soil

Question Number : 56 Question Id : 9983678710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T-S[ATS T 376l AT o FRoT fohe gahr T AT i
FH H A TeTodr (Sdel) T TLIRaT &lar &7

Options:

1. v Tell THET




2. = oTel THaEY
3. = T HA

4. = ofeZC Har

Question Number : 57 Question Id : 9983678711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following states is the largest producer of
onion in India?

Options:

1. * Tamil Nadu

2. = Jammu and Kashmir
3. v Maharashtra

4. = Gujarat

Question Number : 57 Question Id : 9983678711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & O i 97 T IR § WIS FT g&8 a2
3cUTeeh g7

Options:

1. » giad T3
2. = SFH 3N FAR

3. v HERTSE
4. « RIS

Question Number : 58 Question Id : 9983678712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many countries are there is North America?

Options:

1. v 23
2. % 25



3.% 21
4 % 22

Question Number : 58 Question Id : 9983678712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jccadl AT H fehclal ger 87

Options:

1. v 23
2. = 25
3. = 21
4. = 22

Question Number : 59 Question Id : 9983678713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Belle Isle Strait connects the Gulf of St. Lawrence with the

Options:

1. v Atlantic Ocean
2. » Arctic Ocean

3. = Indian Ocean

4. = Antarctic Ocean

Question Number : 59 Question Id : 9983678713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sol 33l & (o TMY) T AR hT TIET I a
SiEdr gl

Options:

1. v colliceh FAEETPR
2. * 3caATYarT AR
3. » 783 AZHRR




4. % 3TTRIcH AGNER

Question Number : 60 Question Id : 9983678714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Betwa river is a tributary of which of the following rivers?

Options:

1. v Yamuna
2. = Hooghly
3. = Ghagra
4. » Sindh

Question Number : 60 Question Id : 9983678714 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Sdar sTel Tohd el hl TRTIH el &7

Options:

1. v TJHAT

2
3. » HTENT
4
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Group Marks: 20
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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20
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Section Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983678715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following mountains has the highest peak in
Africa?

Options:

1. * Mount Kenya

2. v Mount Kilimanjaro
3. » Mount Ruwenzori
4. = Mount Emin

Question Number : 61 Question Id : 9983678715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3hIeRT A ford 9ad T T @od 3T 87

Options:

1. % HI3C Fad]
5 mre SR
3. * HI3C SeallNl

4. = A3C UTAA

Question Number : 62 Question Id : 9983678716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Chalukya Dynasty?

Options:



1. = Aditya I

2. = Rajendra I1
3. v Pulakeshin I
4. = Krishna III

Question Number : 62 Question Id : 9983678716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITele] ITSTael R EATIFR i AT?

Options:

1. = 3Ty |
2. = Taig
S.JWI
4. = oot |||

Question Number : 63 Question Id : 9983678717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who started the "Khilafat Movement'?

Options:

1. » Fakhruddin Ali Ahmed

2. v Shaukat and Muhammad Alil
3. » Muhammad Ali Jinnah

4. » Dr. Zakir Hussain

Question Number : 63 Question Id : 9983678717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = BESI 3ol 3EAS
2.waﬁa«—cr3ﬂtagm3ﬁ$r
3. » AIGFHAG 3ol Tolealld



4. = 3. TR g

Question Number : 64 Question Id : 9983678718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

When was the Indian National Congress (INC) formed?

Options:

1. = 1895
2. v 1885
3. = 1889
4. = 1880

Question Number : 64 Question Id : 9983678718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R TCCTA HII (IMTTET) T ITSeT hay 3T A7

Options:

1. = 1895
2. v 1885
3. = 1889
4. = 1880

Question Number : 65 Question Id : 9983678719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following Sufl saint was given the title - "Roshan
Chirag-e-Delhi™?

Options:

1. = Alauddin Khalji

2. = Aurangzeb

3. v Hazrat Nasiruddin Mahmood
4. = Qutbuddin Bakhtiyar Kaki

Question Number : 65 Question Id : 9983678719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafoad # & fre ghr @d &1 "Verel RIer-u-faeelr &1
ofiser fe=am ar=ar ar?

Options:

1. = 3Tol3%IeT T&eloil
2. = e
3. v BoRd HIERId HEHG

4.w@ﬁama«-@

Question Number : 66 Question Id : 9983678720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Chandela dynasty?

Options:

1. v Nanuka
2. = Vakpatl
3. » Rahila

4. = Vijaypala

Question Number : 66 Question Id : 9983678720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ool JToTaeT T TEATTFR hiel AT?
Options:

1. v odddhl

[

% [dwoi<Mlel

2.
3. = JTgell
4,

Question Number : 67 Question Id : 9983678721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hiuen-Tsang visited India under the reign of

Options:




1. v Harshavardhana

2. » Chandragupta Maurya

3. » Chandragupta II Vikramaditya
4. = Muhammad-Bin-Tughlaq

Question Number : 67 Question Id : 9983678721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Zdel T of o T H AR T ST T 2T

Options:

1. v g¥ad«
2. % aa?;rcrmfr
3. = ﬂ‘;!,‘cgl«_cr IRCET:IER

_h - d
4, = HeFH-[slel-JaTeleh

Question Number : 68 Question Id : 9983678722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarter of Human Spaceflight Centre
located?

Options:

1. * New Delhi
2. v Bengaluru
3. = Mumbai
4. » Kolkata

Question Number : 68 Question Id : 9983678722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTeTd A& 33Tl her T HTATORT FEl Tad &7

Options:

1. = oz feeall
2.«?3?1@3




3. = #AES

N

4. % plelehrdl

Question Number : 69 Question Id : 9983678723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the first woman Chief Minister in India. She also
founded the political party named "All India Mahilla
Congress”.

Options:

1. » Shashikala Kakodkar
2. » Nandini Satpathy

3. v Sucheta Kriplani

4. » Anwara Taimur

Question Number : 69 Question Id : 9983678723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T Igell AfGET HCIHAT FT ATH FAC| el "3
HAT ATGAT FEH" dATH I Jlalider 9Ief hl TATIT T FT
ofT|

Options:

1. = TR elT FTFRIZH
2. % AT Hegeh
3. v AT F9elTa)
s [
4. % 3Tl AHY

Question Number : 70 Question Id : 9983678724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who received the Dadasaheb Phalke award in 2018?

Options:

1. = Sridevi
2. = Pankaj Tiwari



3. = Riddhi Sen
4. v Vinod Khanna

Question Number : 70 Question Id : 9983678724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2018 # SrETHTEs Hlelsh TERR Tora faem or?

Options:

1. = sicdr

2. = Oehol TIANT
3. « Nfg o
4. v e ol

Question Number : 71 Question Id : 9983678725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first recepient of Param Vir Chakra Award?

Options:

1. v Somnath Sharma
2. » Vikram Batra

3. = Vikram Khanolkar
4. = Karam Singh

Question Number : 71 Question Id : 9983678725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UgAT WHAN Tk QERR fordl feam amam or?

Options:

1. v GIHTYT AT
2. = Taere 3T

3. » [dshd W@ellela
4. » FH O

Question Number : 72 Question Id : 9983678726 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

"A Flight of Pigeon™ was written by

Options:

1. v Ruskin Bond
2. = David Davidar

3. * R K Narayan
4. = Mulk Raj Anand

Question Number : 72 Question Id : 9983678726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'T Fellge HAH GIetel” CaRT ToIEl a2 o)

Options:

1. v TThel FIUS
2. « 2fag 2=t
3. % 3T & AROT
4.

* Heh ol SIGH

Question Number : 73 Question Id : 9983678727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following was replaced by the World Trade
Organisation?

Options:

1. v General Agreement on Tariffs and Trade
2. » International Business Organisation

3. » International Chamber of Commerce

4. = International Monetary Fund

Question Number : 73 Question Id : 9983678727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mrafei@aa # O 8 T IR geea @ ufaeaiua
=T AT?

Options:



v Yo TF SR I GTATTT GHSIET
% TS SATUR HITSa

RTSET FIvled AvSoT

% HAWTSGT Hl FIY

Question Number : 74 Question Id : 9983678728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many members of Lok Sabha are elected from the Union
Territories currently?

Options:

1.+ 13
2. % 15
3. % 12
4. %18

ol
#®

Question Number : 74 Question Id : 9983678728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATT H shg M U2 & olleh AT & Tohdel Tl gﬁ?rcf
X

Options:

1. v 13
2. = 15
3. = 12
4. = 18

Question Number : 75 Question Id : 9983678729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How long did it take for the constitution to form?

Options:

1. = 2 years, 5 months and 13 days



2. v 2 years, 11 months and 17 days
3. = 2 years, 6 months and 17 days
4. = 2 years, 7 months and 11 days

Question Number : 75 Question Id : 9983678729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl Saa # ordaT THT o6 aT?

Options:

1. = 2 @I, 5 Adle 3R 13 feat
2. v 2 g@rer, 11 At 3w 17 R
3. = 2 OTeT, 6 A 3T 17 e
4. % 2 @1, 7 A 3T 11 R

Question Number : 76 Question Id : 9983678730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Through which amendment Socialism and Secularism were
inserted in the preamble?

Options:

1. = 62nd
2. = 58th
3. % 54th
4. v 42nd

Question Number : 76 Question Id : 9983678730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forg geud & ATETH O TATSEG 3N gHTATOETar S 32T
H gFATed ThaT =T 9T1?

Options:

1. = 62 @
2. = 58 @




3. = B4 g
4. v 42 T

Question Number : 77 Question Id : 9983678731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The schedule of the Indian Constitution contains the
list of 22 recognized languages.

Options:

1. v Eighth
2. » Twelfth
3. * Ninth
4. = Third

Question Number : 77 Question Id : 9983678731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT HIeTel T TeTEE H 22 ATehdT e TSIt
T FIT A &

Options:

1. v 3Taar
2. = SRgdl
3. = Siar

4, = Jradr

Question Number : 78 Question Id : 9983678732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is the youngest captain in
international cricket?

Options:

1. = Sachin Tendulkar
2. v Rashid Khan
3. » Shakib Al Hasan




4, = Waqar Younis

Question Number : 78 Question Id : 9983678732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafe&a & @ Fid AT Fohehe H TG FH 37 F
hTdlel &7

Options:

1. = @ ﬁ%ﬁ¢{
2. v O @

3. % QIfhd el &

4., = TR a9
Fin B

Question Number : 79 Question Id : 9983678733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ISCHSH Toll H Ugeh Siidel dlel gl HRAIT TolHATES hisel A7

Options:

1.@3-]T‘i’ﬁ'ﬁfsﬁzl'ﬂ'
2. = 3T%UT 15T
3. = Q9T SHATRT
4. = I, gRHSOT

Question Number : 79 Question Id : 9983678733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first Indian gymnast to win a medal at the
Commonwealth Games?

Options:

1. ¥ Ashish Kumar
2. = Aruna Reddy
3. = Dipa Karmakar
4. = P. Harikrishna




Question Number : 80 Question Id : 9983678734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the youngest male player ever to win Wimbledon in
singles?

Options:

1. = Margaret Smith
2. = Steffl Graf

3. = Pete Sampras
4. v Boris Becker

Question Number : 80 Question Id : 9983678734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hored A TAeese Silde drell T8989 s 3H & TEY RECIE
hieT 2T?

Options:

1. = #APRC T
2. = ECHT AqTH
3. = dic §FIN
4. v AT TR

Arithmetic Abilityl
Group Number : 5
Group Id: 998367381
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability1

Section Id : 998367387

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367549
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983678735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 11?

Options:

1.+ 13915
2. % 11234
3. % 23411
4. % 61234

Question Number : 81 Question Id : 9983678735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafeaa & O i O g&ar 11 8 @duea 87

Options:

1. v 13915
2. = 11234
3. = 23411
4. = 61234

Question Number : 82 Question Id : 9983678736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 4?

Options:

1. » 32462



2. % 63582
3.v 27728
4. % 32146

Question Number : 82 Question Id : 9983678736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafel&T # @ i O T&IT 4 § 99T 87

Options:

1. = 32462
2. % 63582
3. v 27728
4. = 32146

Question Number : 83 Question Id : 9983678737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation:

512 +40f2+39+3x4=7
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. 168
2.116
3.393.33
4.131.25

Question Number : 83 Question Id : 9983678737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIOT T ol el & foIv Tod 3T [ahed el

2+ 39 + 3 x 47512 + 4=



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 168
2. 116
3. 393.33
4. 131.25

Question Number : 84 Question Id : 9983678738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the most appropriate option to solve the equation:

325+5x15+3+84x1/2=7
Options:

1. = 301.5
2. % 354
3. = 2045
4. v 367

Question Number : 84 Question Id : 9983678738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIOT AT §ol el & foIv T 3Tl fashed e |
325 + A x 15 + 3 + 84 x 12 =7

Options:

1. = 301.5
2. = 354
3. = 204.5
4. v 367

Question Number : 85 Question Id : 9983678739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The LCM of two numbers in 54. Their ratio is 2 : 3. What is the
sum of the numbers?

Options:

1. = 40
2. % 48
3.v45
4. % 65

Question Number : 85 Question Id : 9983678739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o HEA3T HT THcaTH FATIGTH 54 &1 3R 37T 2 1 3
3T EITHT T 9T AT §7

Options:

1. = 40
2. % 48
3. v 45
4. = 65

Question Number : 86 Question Id : 9983678740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the greatest number of 4 digits which is divisible by
30, 36, 60 and 727

Options:

1. = 9930
2. % 9351
3.+9720
4. = 9990

Question Number : 86 Question Id : 9983678740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



4 3R T gE0 S5 GEAT FAT & ST 30, 36, 60 3w 72 &
=T &7

Options:

1. = 9930
2. » 9357
3. v 9720
4. = 9990

Question Number : 87 Question Id : 9983678741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 285/15 = 114/%, then what is the value of 12x + 14?

Options:

1. = 84
2.% 124
3.~ 86
4. % 92

Question Number : 87 Question Id : 9983678741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg 285/15 = 114/x &, @& 12x + 14 T AT FAT &7

Options:

1. = 84
2. = 124
3. v 86
4. = 92

Question Number : 88 Question Id : 9983678742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What decimal of a day is a minute?

Options:



1. v 0.00069
2. » 0.00062
3. = 0.00075
4. %= 0.00058

Question Number : 88 Question Id : 9983678742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vk TRIAT vk TeaT &1 TohaaT ZerdEeg &7

Options:
1. v 0.00069
2. = 0.00062

3. = 0.00075
4. = 0.00058

Question Number : 89 Question Id : 9983678743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When 144 is multiplied by a number then it gives the square
of 6 times the number. What is the number?

Options:

1.+v4
2.% 5
3.2 06
4, =7

Question Number : 89 Question Id : 9983678743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 144 1 TR T&dm & oM fRar SITdr § @8 aF 38 H6E
% 6 T FT gIT AT §| TE TEAT FAT &7

Options:

1. v 4




2. % D
3. = 6
4. = 7

Question Number : 90 Question Id : 9983678744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 0.045 =+ X3 = 45, then 3X is equal to

Options:

1. = 0.003
2. % 30
3.v03
4, % 3

Question Number : 90 Question Id : 9983678744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁu.o45+x3:45%,a‘r3x F TET g

Options:

1. = 0.003
2. % 30
3. v 0.3
4. = 3

Question Number : 91 Question Id : 9983678745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The average age of 5 teachers in school is 40 years. If a
teacher aged 35 resigns and a teacher aged 25 joins the school,
then what is the new average age of the 5 teachers?

Options:

1. = 35



2.v 38
3. = 36
4. % 37

Question Number : 91 Question Id : 9983678745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thol H 5 TRIeTer! $1 36T 37 40 a¥ &1 Ife 35 a¥ $1 358 &
U fRIeTeR SEAIHT & & 3N 25 a¥ & ver fRrere Fepor A
AT & Sd &, dl 37 5 &Rl T a5 3iGd 37 Fa1 &7

Options:

1. » 35
2. v 38
3. = 36
4. = 37

Question Number : 92 Question Id : 9983678746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of 6 girls increases by 2.5 kg when a girl
welghing 20 kg is replaced by a new girl. What is the weight
of the new girl?

Options:

1.v35Kkg
2.« 225 kg
3. % 25 kg
4. = 20 kg

Question Number : 92 Question Id : 9983678746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



6 oIsfehal T 3 Gd ol 2.5 kg §& AT & I 20 kg Tolel

dTell oIgehl sl Ueh olg oISeh] AT Scol T¢Il SITdT &1 oTs olgeh!

ST Tolel T §7

Options:

1. v 35 kg
2. = 22.5 kg
3. = 25 kg
4. = 20 kg

Question Number : 93 Question Id : 9983678747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simran bought a table for 25% discount. Had she got no
discount, she would have paid Rs. 225 more. What was the
price paid by Simran?

Options:

1. » Rs. 830
2. » Rs. 900
3. v Rs. 675
4. % Rs. 725

Question Number : 93 Question Id : 9983678747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & 25% T W Th A TEN 3R 38 HIS T b
fAerclr, dr @8 R 225 377 T HoTdTe Her| AT g@nr
HITATeT T 35 hIAT FaT 417

Options:

1. = ¥4I 850
2. = TG 900
3. v 9T 675




4. = TG 725

Question Number : 94 Question Id : 9983678748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

X's salary is 60% more than Y's salary. How much percent is
Y's salary less than X's?

Options:

1. = 50.50%
2. % 60%
3. v 37.50%
4, % 75%

Question Number : 94 Question Id : 9983678748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X T dcfel Y & defel & 60% 31feh &1 X 1 Jorelm # Y I
ddde ferdelr wiaerd H &7

Options:
1. x 50.50%
2. = 60%
3. v 37.50%
4. = /5%

Question Number : 95 Question Id : 9983678749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bhatsman scored 150 runs which included 15 fours and 5

sixes. What percent of his runs was scored by boundaries?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 40%
2. 45%
3. 50%



4. 25%

Question Number : 95 Question Id : 9983678749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Seolslol o 150 T a9 98 15 Otk 34T 5 TFh

AT | JoTeh Tehclel Wi Tol 1337 NI Sollv T 27

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 40%
2. 45%
3. 50%
4. 25%

Question Number : 96 Question Id : 9983678750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A earns 30% more than B and B earns 25% more than C,
then how much does A earn if C earns Rs. 160?

Options:

1. = Rs. 250
2. » Rs. 240
3. = Rs. 225
4. v Rs. 260

Question Number : 96 Question Id : 9983678750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg A, B & 30% 3119 AT & 3w B, C & 25% s
FATAT &, dI A TohdelT FATTT &, I C, 160 T FATET &7

Options:

1. » ¥ 250
2. = TG 240




3. = ®II 225
4. v I 260

Question Number : 97 Question Id : 9983678751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article was sold for Rs. 2376 at a discount of 20% after 2
successive mark-ups of 10% and 20%. Find the cost price of
the article.

Options:

1. v Rs. 2250
2. % Rs. 2500
3. % Rs. 2345
4. » Rs. 2000

Question Number : 97 Question Id : 9983678751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uh q%§ﬁ10%m20%$2mm3¥m20%6ﬁ

P T 2376 UGN H ST T AT| 3H TEJ HT 0T Hed AT
|

Options:

1. v ¥4 2250
2. = TG 2500
3. = I 2345
4. = TG 2000

Question Number : 98 Question Id : 9983678752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A vendor bought 12 candies for a rupee. How many candies
should he sell for a rupee to gain 20%?

Options:

1. v 10



2. %5
3.% 8
4 %6

Question Number : 98 Question Id : 9983678752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh d8¥ o Tk ®9A H 12 Fal KT 20% ot g6l el &
fore 38 1 ®9 & Tohaer Far sS=eir a1ige?

Options:

1. v 10
2. % 5
3. = 8
4. = 6

Question Number : 99 Question Id : 9983678753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the selling price is doubled, the profit increases 4 times.
Find the profit percent.

Options:

1. v 50%
2. % 75%
3. % 25%
4. % 200%

Question Number : 99 Question Id : 9983678753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife ToshT e Qe T ST &, o offeT 4 97 §¢ ST g
TS UTaerd AT ST

Options:

1. v 50%




2. = /5%
3. = 20%
4. = 200%

Question Number : 100 Question Id : 9983678754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

65 chocolates are to be distributed between Ashish and Isha
in the ratio of 4 : 9, how many more chocolates does Isha get
than Ashish?

Options:

1. v 25
2. % 45
3. % 20
4, % 35

Question Number : 100 Question Id : 9983678754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3RS 3 ST & & 4 : 9 & 3Hefuld # 65 wishele AR
T ATAT §, T T 3TeNT & Tohcdal 31TR dlshele THeAT &7

Options:
1. v 25
2. % 45
3. = 20
4. = 35
Arithmetic Ability?2
Group Number : 6
Group Id : 998367382
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 998367388
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367550
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983678755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifx:y=3:2,then whatis (5x + 3y) : (3x + 2y) equal to?

Options:

1. = 13/21
2. = 16/5
3. % 5/16
4. v 21/13

Question Number : 101 Question Id : 9983678755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T x 1y =32, a Bx + 3y) : (3x + 2y) fFaF WL
B19T?

Options:

1. = 13/21
2. = 16/5



3. = 5/16
4. v 2113

Question Number : 102 Question Id : 9983678756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the fourth proportional.

228 195 ::132:7
Options:

1. » 60
2.v 35
3.8 73
4. % 80

Question Number : 102 Question Id : 9983678756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIEN 31|a314|'|?|ch ATT B
228 : 95 =+ 132 : 7

Options:

1. = 60
2. v 55
3. = 75
4. = 80

Question Number : 103 Question Id : 9983678757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the rate of interest if the simple interest on Rs. 2500 for 5
years is Rs. 625.

Options:

1. v 5%



2. % 4%
3. = 6%
4. % 8%

Question Number : 103 Question Id : 9983678757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STTST hT 2T AT H I 2500 94T 9T 5 a¥ & TOIT Greqmor
AT 625 T &

‘Ip. v 5%
2. = 4%
3. # 6%
4., = 8%

Question Number : 104 Question Id : 9983678758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A loan of Rs.1200 is taken with simple interest for as many
years as the rate of interest. If Rs. 300 is the interest earned,
what Is the rate of interest?

Options:

1. = 7%
2. % 6%
3. v 5%
4. % 4%

Question Number : 104 Question Id : 9983678758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

sIToT 2T Torder & 3der @t & forw 1200 $9=T T =oT grearoT
=TT ¥ ToRm Srar &1 I 300 9 Mg =TT &, o =Tl
g T &7

Options:




1. » 7%
2. = 6%
3. v 5%
4. = 4%

Question Number : 105 Question Id : 9983678759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X took a loan of Rs. 1500 with simple interest for as many
years as the rate of interest. If he paid Rs. 540 as interest at
the end of the period, what was the rate of the interest?

Options:

1. = 5%
2. v 6%
3. % 7%
4. % 8%

Question Number : 105 Question Id : 9983678759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

X & STl Sl & Toidal & 3det au! & folv TR s W
1500 9t T HoT folum| AT 38a 3@ & 370 & A= &
T H 540 FOF T oTclTel FoRam, o sarsT hr &7 Far o4

Options:
1. = 5%
2. v 6%
3. » 7%
4. » 8%

Question Number : 106 Question Id : 9983678760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



John travelled a distance of 90 km in 8 hours He travelled
party by a cycle at 5 km/h and partly by a car at 15 km/h.
Find the distance covered by him on the cycle.

Options:

1. = 30 km
2. % 10 km
3.+v15 km
4. % 45 km

Question Number : 106 Question Id : 9983678760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SieT of 8 & A 90 km Hr gf¥ d FI| 39 A 7§ 5
km/h Fr aifg & gEferer @ ImET H1 3w 309 F @ 15 km/h
AT & HR & AT HI| ASTheT I 38 @RI dF a5 G
AT

1. = 30 km
2. = 10 km
3. v 15 km
4. = 45 km

Question Number : 107 Question Id : 9983678761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raman covers a certain distance by train at 42 km/h and an
equal distance by cycle at 7 km/h. If the time taken by him for
the whole journey be 4 hrs, what is the total distance
travelled?

Options:

1. » 30 km
2. % 35 km



3. = 45 km
4. v 48 km

Question Number : 107 Question Id : 9983678761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THA 42 km/h T ifd & YeEmsT @ v fafead gt a9 ar g
3T 7 kmih T 97T & ATSThel & 3ail &7 g1 T T &
afe 38 g@rT gt amar & fov forar g7 4 =92 &, ar
w%rgmag’rﬁ«—d?ﬁ%’?

1p. « 30 km
2. = 35 km
3. = 45 km
4. v 48 km

Question Number : 108 Question Id : 9983678762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man on a tour travels the first 120 km at 72 km/h and the
next 120 km at 60 km/h. What is the average speed of the
journey?

Options:

1. = 66 km/h
2. v 6545 km/h
3. = 66.54 km/h
4. = 65 km/h

Question Number : 108 Question Id : 9983678762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g 9T ST aTelT Ueh egied ggel 120 km hr 72 km/h hr arfar
T 3T 3mTel 120 km T 60 km/h shr aifa & ImaT HLaT &l

JTET T 3AEd T F4T 87

Options:

1. = 66 km/h
2. v 65.45 km/h
3. = 66.54 km/h
4. = 65 km/h

Question Number : 109 Question Id : 9983678763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A takes 25 days to complete a piece of work and B takes 30
days to complete the same work. They worked together for 10
days and then B left the work. How many days will A take to
complete the work?

Options:

1. = 5.65 days
2. v 6.67 days
3. % 8.25 days
4. = 10.25 days

Question Number : 109 Question Id : 9983678763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T fRET FTH AT QT Hlad # 25 & oot § 3 B &1 347
HTH I [ Hla A 30 & o6 &1 Iegial 10 el do T
a1y FTH Far 3T T B o g &1H oI 8 A & 38 F1H
T el H fohciel oo o@mer?

Options:

1. = 5. 65 f&a




2. v B. 67 f&aT
3. = 8 25 faa
4. = 10. 25 &1

Question Number : 110 Question Id : 9983678764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Harshita and Nisha can do a piece of work in 6 days. Nisha
and Anjali can do the same work in 15 days. Anjali and
Harshita can do the same work in 10 days. If Harshita, Nisha
and Anjali work together, then in how many days will they
complete the work?

Options:

1. = 4 days
2. » 5 days
3. v 6 days
4. = 8 days

Question Number : 110 Question Id : 9983678764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&Sar 3T e 6 Gar A U FTH HT Thal &1 Torem 3T
HaTel ggr 1A 15 f&al A T Gehdl &1 3foffel 3T &T¥aT agr
F1E 10 ol & T Tohdl gl I &War, Torem 3R 3=Ter T
| HIH FAT &, dr d Fhdel Teall # HMH QT HLAT?

Options:

1. = 4 e
2. % 5 faa
3. v 6 f&af
4. = 8 fea

Question Number : 111 Question Id : 9983678765 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

1/24 of a work is completed in half a day by 4 persons. Then,
1/16 of the work, can be completed by 6 persons in how many
days?

Options:

1. v 1/2 day
2. = 1day

3. % 2 days
4. = 3 days

Question Number : 111 Question Id : 9983678765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordil I T 1/24 AR 4 =ATFal @ry 3 foe & @ fomam
ST &1 Y, 39 ST HT 1/16 6T, 6 STTFaar 2anT fehddel TEar
H T fRIT ST Fehell &7

Options:

1. v 12 &
2. % 1 fear
3. % 2 fea
4. % 3 fea

Question Number : 112 Question Id : 9983678766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A tank is 10 m long, 12 m wide and 10 m deep. What is the
cost of plastering its walls and bottom at 60 paisa per sq. m?

Options:

1. » Rs. 256
2. % Rs. 288
3. = Rs. 348
4. v Rs. 336




Question Number : 112 Question 1d : 9983678766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh &k 10 m o&T, 12 m =871 3{ 10 m &7 &1 60 ¥ ufa
gt HIET FT &7 & SHHI GIaRT 3T A del § Tolead hilal
hT STITT AT BIAN?

Options:

1. » ¥R 256
2. = I 288
3. = ®II 348
4. v 9T 336

Question Number : 113 Question Id : 9983678767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the cost of plastering a wall from all 4 sides as well as
the top which 1s 5 m long, 2.5 m high and 400 mm thick, if the
rate of plastering is Rs. 15 per sq. m?

Options:

1. v Rs. 435
2. % Rs. 430
3. = Rs. 525
4. % Rs. 532

Question Number : 113 Question Id : 9983678767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uch S ol AT 4 TE & 3T T@1T &7 I3W F TaFed hia
FT ETT FAT &, ST 5 m o@T, 2.5 m =T 3T 400 mm AL
& 39N TolEeY ST &7 15 ¥ ufa g A &7

Options:

1. v ¥9T 435




2. = TG 450
3. = ®II 525
4. = TGI 532

Question Number : 114 Question Id : 9983678768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cistern 6 m long and 5 m wide contains water upto a depth
of 2 m. What is the area of the wet surface?

Options:

1. = 85 m2

2. % 506 m2

3.v74 m2

4. % 104 m2

Question Number : 114 Question Id : 9983678768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B mos 3T 5 m T TR & 2 m HT ITEIE T el g
& Ielr Tadg T ST FIT &7

Options:

2
1. = 8 m

2
2. = 56 m

2
3. v 74 m

2
4. » 104 m

Question Number : 115 Question Id : 9983678769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows various expenses pf an economy
(in Rs. 1000s) from 2014 to 2018. What is the percentage
increase in the total amount spent by the economy on imports
and exports from 2015 to 2018?

Consump |Investme |Governm
tion nt ent
Expendit |Expendit |Expendit
Years ure ure ure Exports |Imports
2014 1250 1000 800 425 400
2015 1300 1250 850 500 500
2016 1650 1350 800 500 600
2017 1500 1400 975 575 700
2018 1750 1450 1050 600 800
Options:
1. v 40%
2. % 50%
3. = 45%
4. % 55%

Question Number : 115 Question Id : 9983678769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFeTToIaa drfershr 2014 & 2018 T Teh 372fegaea (. 1000
) & faffiea ==t Fr gofar &1 2015 & 2018 T 3T 3T
foiala oT 39 3TIeqaTdT gRT T AT A5 Fel AT H Tidrd
qfe 1 &2

Iusier | & (e

auf g |j@g |@w fata  |smaa
2014 | 1250 | 1000 | 800 425 400
2015 | 1300 | 1250 | 850 500 500
2016 | 1650 | 1350 | 900 500 600
2017 | 1500 | 1400 | 975 575 700
800

2018 1750 1450 1050 600

Options:



1. v 40%
2. = 50%
3. = 45%
4. = 55%

Question Number : 116 Question Id : 9983678770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie chart shows the spending of a student. If the amount
spent by him on books 1s Rs. 3150, then what is the amount
spent on food?

Spending of a Student

Stationeries
12%

/ Library fees
7%

Options:

1. » Rs. 4,800
2. % Rs. 7,200
3. v Rs. 5250
4. % Rs. 4,320

Question Number : 116 Question Id : 9983678770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IJg Us ATE Ueh o3 ?@‘t‘iaﬁa@ﬁm%laﬁy—dqﬁ 0T 3T
SART E T g TR 3,150 F9A &, dr el W & hT SIed
grell [T a7 §7

TF O & @9
E=a = r |

12%

Options:

1. » ®9& 4,800
2. = ®9I 7,200
3. v ¥ 5,250
4. = T 4,320

Question Number : 117 Question Id : 9983678771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The pie graph shows the break-up of the cost of construction
of a house. If the spending on Timber was Rs. 20,000 less then
the spending on Steel, then how was the cost of Labour?

Cost of Construction of a House

Options:

1. v Rs. 2,50,000
2. = Rs. 3,20,000
3. = Rs. 3,50,000
4. % Rs. 3,60,000

Question Number : 117 Question Id : 9983678771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jg TS 3Teld Ueh EX o TATOT hT oIETd & AL &l 2T &
| I ey W fopaT =< B W e =< & 20,000 &9
FA §, o ATAP T fha=T T g3

v w¥ & @At & e




Options:

1. v 9 2,50,000
2. = ®9I 3,20,000
3. = ¥4I 3,50,000
4. = TG 3,60,000

Question Number : 118 Question Id : 9983678772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the data of the production
of cloth (in lakh tonnes) by three different companies A, B

and C over the years. The average production for five years
was maximum for which company?

& e ® Company & = Company B = Company C
-E'|= 600
- 500
T _ 500 s
o o
H -
f'_ 200
3 I
a o
014 2015 2016 2017
Options:
1. = A
2. % (
3.vAand B
4.« Aand C

Question Number : 118 Question Id : 9983678772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S feT aTe T9w 3T A e aut & J1T 37aeT-37609]
Fufal A, B 3T C SaRT $Ug (oT& T HA) & 3cUEd
3ehsl @I TGEmT 94T &1 ohd F9ar & folv g ay & 33 ed
3cUTgel 3TIhadd 2aT?

aa0

»e s F9ATA s FIETB
00 520 500
SO0
400 400
400 360
; 300
200
100
1]
2014 2015

2017

wIS & Ic9IGe @ 56T
(e &1 &)

Options:

1. = A
2. = C
3. v A 3R B
4. = A 3T C

Question Number : 119 Question Id : 9983678773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The histogram shows the exports of India over different years.
What is the rate of growth from 2014-15 to 2017-18?

FIIT

2016-2017 2014-2015 2012-2013
2017-2018 2015-2016 2013-2014

Year

Options:



1. = 54%
2. v 48%
3. % 45%
4, % 38%

Question Number : 119 Question Id : 9983678773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ig MId<T e aul & 9ara & @5ta gotar &1 2014-15
T 2017-18 Tk ThRT T 4T &7

6000
5000
5000
4250
4000 3750
3250
# 3000 2500
e
1000
0
2016-2017 2014-2015 2012-2013
2017-2018 2015-2016 2013-2014
L
Options:

1. = 54%
2. v 48%
3. = 45%
4. = 38%

Question Number : 120 Question Id : 9983678774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The line chart shows the profit (in Rs. 1000s) of a firm for
various years. What is the arithmetic average rate of growth
of profit in the given years?

8

Pl
i
(=2

240

3

214 w8
190 198

165 172
150 140

Profit of a firm
= it
8 &

L)
o

=]

2010 2011 2012 2013 2014 2015 2016 2017 2018

Year

Options:

1. = 6.33%
2. % 6.45%
3. % 8.67%
4. v 6.42%

Question Number : 120 Question Id : 9983678774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ig T ¢ Fffea aut & v v ®F & oy # (% 1000
#) femmar &1 v 71w aut & o & [ 1 3w
sitga & =T &2

300
250
EZDIJ 214 225 2
F 190 198
'E 150 165 172
150
E- 100 140
50
0
2010 2011 2012 2013 2014 2015 2016 2017 2018
ay
Options:
1. = 6.33%
0
2. = 6.45%
4]
3. = 6.67%
4]
4., v 6.42%
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Question Number : 121 Question Id : 9983678775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) My mother/ (B) is not in good mood/ (C) today./ (D) No
error

Options:

1.« A
2.v DB
3.5 C
4, %]

Question Number : 121 Question Id : 9983678775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) My mother/ (B) 1s not iIn good mood/ (C) today./ (D) No

error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 122 Question Id : 9983678776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) My boss 1s/ (B) enough kind to/ (C) help me with my
problems./ (D) No error

Options:

1.« A
2.v DB
3.5 C
4, %]



Question Number : 122 Question Id : 9983678776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) My boss 1s/ (B) enough kind to/ (C) help me with my

problems./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 123 Question Id : 9983678777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Modern Bollywood movies/ (B) have often been described/
(O)as fantasy brought to live. / (D) No error

Options:

1. = A
2.« B
3.v(



4. %D

Question Number : 123 Question Id : 9983678777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Modern Bollywood movies! (B) have often been
described/ (C)as fantasy brought to live. / (D) No error

Options:

1. = A
2. = B
3. v C
4. = D

Question Number : 124 Question Id : 9983678778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) The teacher didn't know / (B) who of the students / (C)
broke the glass. / (D) No error

Options:

1. A



2.v B
3.5 C
4 =D

Question Number : 124 Question Id : 9983678778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) The teacher didn't know / (B) who of the students / (C)
broke the glass. / (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 125 Question 1d : 9983678779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) She said that she/ (B) will mind if/ (C) I refused to go with
her./ (D) No error

Options:

1. = A
2.v B
3.5 C
4. %D

Question Number : 125 Question 1d : 9983678779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence is free from error, select the "No error" option.

(A) She said that she/ (B) will mind iff (C) | refused to go
with her./ (D) No error

Options:

1. = A
2. v B
3. % C



4. = D

Question Number : 126 Question Id : 9983678780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Raman (told his mother) to explain the comprehension to him.

Options:

1. = said to his mother
2. v asked his mother
3. » exclaimed with joy
4. = gordered his mother

Question Number : 126 Question Id : 9983678780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Raman (told his mother) to explain the comprehension to

him.
Options:

1. = said to his mother
2. v asked his mother
3. = exclaimed with joy

4. = ordered his mother

Question Number : 127 Question Id : 9983678781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options given.

(In case 1if) it rains, I shall not visit Reema'’s house.

Options:

1. = If s0

2. » In case of
3.v1If

4. = Case

Question Number : 127 Question Id : 9983678781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

(In case If) it rains, | shall not visit Reema's house.

Options:

1. = If so

2. ® In case of
3. v If
4. = Case

Question Number : 128 Question Id : 9983678782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Simran (gave) the entrance examination in April.

Options:

1. = appeared
2. v took



3. % giving
4. = given

Question Number : 128 Question Id : 9983678782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Simran (gave) the entrance examination In April.

Options:

1. = appeared
2. v took
3. = giving
4, = given

Question Number : 129 Question Id : 9983678783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Garima did not know (paint and cook).

Options:

1. * how to paint and how to cook
2. v how to paint and cook

3. = painted and cooked

4. = to painting and cooking

Question Number : 129 Question Id : 9983678783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options

given.

Garima did not know (paint and cook).

Options:

1. * how to paint and how to cook
2. v how to paint and cook

3. # painted and cooked

4. = to painting and cooking

Question Number : 130 Question Id : 9983678784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Godan was Premchand’s (last) work.

Options:

1. v last

2. » latter
3. = recent
4. = hetter

Question Number : 130 Question Id : 9983678784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

(Godan was Premchand's (last) work.

Options:

1. v last



2. = |atter
3. = recent

4. = better

Question Number : 131 Question Id : 9983678785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Sita exclaimed that she read an amazing book author
John Green.

Options:

1. = 10
2. v of
3. = from
4. = with

Question Number : 131 Question Id : 9983678785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Sita exclaimed that she read an amazing book author

John Green.

Options:

1. = to
2. v of
3. = from

4. = with

Question Number : 132 Question Id : 9983678786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with an appropriate preposition.

The bus must reach its destination sunrise.

Options:

1. v before
2. % 1o

3. = with
4. = on

Question Number : 132 Question Id : 9983678786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

The bus must reach its destination surnrise.

Options:

1. v hefore
2. % 10

3. = with
4, = on

Question Number : 133 Question Id : 9983678787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Australia against Bangladesh in today’s match.

Options:

1. v is playing
2. = has been playing
3. = 1s played



4. = will be played

Question Number : 133 Question Id : 9983678787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Australia against Bangladesh in today's match.

Options:

1. v I1s playing

2. = has been playing
3. = Is played

4, = will be played

Question Number : 134 Question 1d : 9983678788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Jasmine has found the camera, which she

Options:

1. = lose
2. v had lost
3. % 1s losing

4, » will lose

Question Number : 134 Question Id : 9983678788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Jasmine has found the camera, which she

Options:




1. = lose

2. v had lost
3. ® Is losing
4. = will lose

Question Number : 135 Question Id : 9983678789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Joseph was very good telling lies.

Options:

1. = in
2. v at
3. = with
4. = on

Question Number : 135 Question Id : 9983678789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with an appropriate preposition.

Joseph was very good telling lies.

Options:

1. = In
2. v at
3. = with
4. = on

Question Number : 136 Question Id : 9983678790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with an appropriate preposition.

Sanjana is never home on Mondays.

Options:

1. = in
2. v at
3. = upon
4. = on

Question Number : 136 Question Id : 9983678790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Sanjana Is never home on Mondays.

Options:

1. = In
2. v at
3. % upon
4. = on

Question Number : 137 Question Id : 9983678791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Everyone gaped the film stars.

Options:

1. v at
2. % from
3. % 1n



4, = to

Question Number : 137 Question Id : 9983678791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Everyone gaped the film stars.

Options:

1. v at
2. = from
3. % 1In
4. % 1o

Question Number : 138 Question Id : 9983678792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Ben was thankful to Julie her help.

Options:

1. = at
2. » With
3. = of
4. v for

Question Number : 138 Question Id : 9983678792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Ben was thankful to Julie her help.

Options:



1. = at
2. = with
3. » of
4. v for

Question Number : 139 Question Id : 9983678793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

Nita was:

P : that she could go with him

Q : very excited

R : when her brother told her

S . and stay for a few days in Chennai

Options:

1. = QPSR
2. v QRPS
3. = RSQP
4. = SQRS

Question Number : 139 Question Id : 9983678793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.
Nita was:

P : that she could go with him
Q : very excited
R : when her brother told her

S : and stay for a few days in Chennal

Options:

1. = QPSR
2. v QRPS
3. = RSQP
4. = SQRS

Question Number : 140 Question Id : 9983678794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

A steam engine Is a:

P : performs mechanical work
(Q : heat engine that

R : as its working fluid

S 1 using steam

Options:

1. = QRPS
2. v QPSR
3. = RQSP
4. = SPRQ)

Question Number : 140 Question Id : 9983678794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.

A steam engine Is a:

P : performs mechanical work
Q : heat engine that
R : as its working fluid

S 1 using steam

Options:
1. = QRPS
2. v QPSR
3. = RQSP
4. = SPRQ
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Question Number : 141 Question Id : 9983678795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences. Out
of four options given, select the most logical order of the
sentences which form a paragraph.

To answer why consumers became so eager to buy, some
historians have pointed to the ability of manufacturers to
advertise in a relatively uncensored press.

P : The middling sort bought goods and services because they
wanted to follow fashions set by the rich.

Q : McKendrick favours a Veblen model of conspicuous
consumption stimulated by competition for status.

R : This, however, hardly seems a sufficient answer.

S 1 Again, we may wonder if this explanation is sufficient.

Do people not enjoy buying things as a form of
self-gratification?

Options:

1. v RQPS



2. * SQRP
3. » RPQS
4. » QPRS

Question Number : 141 Question Id : 9983678795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

To answer why consumers became so eager to buy, some
historians have pointed to the ability of manufacturers to

advertise In a relatively uncensored press.

P : The middling sort bought goods and services because
they wanted to follow fashions set by the rich.

Q : McKendrick favours a Veblen model of conspicuous
consumption stimulated by competition for status.

R : This, however, hardly seems a sufficient answer.

S : Again, we may wonder If this explanation I1s sufficient.

Do people not enjoy buying things as a form of

self-gratification?

Options:

1. v RQPS
2. = SQRP



3. = RPQS
4. = QPRS

Question Number : 142 Question Id : 9983678796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Whim
Options:

1. = Gloomy
2. v Fancy
3. = Lazy

4, = Loyal

Question Number : 142 Question Id : 9983678796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Whim
Options:

1. = Gloomy
2. v Fancy
3. # Lazy
4. = Loyal

Question Number : 143 Question Id : 9983678797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Hoist

Options:

1. v Uplift

2. = Degrade
3. = Control
4. = Conceal

Question Number : 143 Question Id : 9983678797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Hoist

Options:

1. ¢ Uplift
2. = Degrade
3. = Control
4.

% Conceal

Question Number : 144 Question Id : 9983678798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Perturbed

Options:

1. » Vague



2. = Distinct
3. x Calm
4. v Anxious

Question Number : 144 Question Id : 9983678798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QOut of the four alternatives, choose the word which best

expresses the meaning of the given word.

Perturbed

Options:

1. = Vague
2. % Distinct
3. = Calm

4. v Anxious

Question Number : 145 Question Id : 9983678799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Subjugate
Options:

1. v Liberate
2. » {onquer
3. = Defeat
4. = Crush

Question Number : 145 Question Id : 9983678799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Subjugate
Options:

1. v Liberate
2. = Conguer
3. # Defeat
4. = Crush

Question Number : 146 Question Id : 9983678800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Impetuous

Options:

1. = Impulsive
2. v Careful
3. = Hinder
4. = Foolish

Question Number : 146 Question Id : 9983678800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Impetuous

Options:



1. = Impulsive
2. v Careful
3. = Hinder
4. = Foolish

Question Number : 147 Question Id : 9983678801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. v Inoculate
2. = Inaculate
3. = Inocolate
4. = Inacolate

Question Number : 147 Question Id : 9983678801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. v Inoculate
2. % |naculate
3. % |nocolate

4. = |nacolate

Question Number : 148 Question 1d : 9983678802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:



1. v Voracious
2. = Vorcious
3. = Vorecious
4, = Voraecious

Question Number : 148 Question Id : 9983678802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. v Voracious
2. % Vorcious
3. # Vorecious

4. = Voraecious

Question Number : 149 Question Id : 9983678803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. v Conscientious
2. = Consciencious
3. = Consciencous
4. = Conscientous

Question Number : 149 Question 1d : 9983678803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:



1. v Conscientious
2. * Consclencious
3. #= Consclencous
4,

# Conscilentous

Question Number : 150 Question Id : 9983678804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Baker's dozen

Options:

1. v Thirteen
2. # Fourteen
3. = Twelve
4. = Eleven

Question Number : 150 Question Id : 9983678804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does the following idiom mean?

Baker's dozen

Options:

1. v Thirteen
2. = Fourteen
3. = Twelve

4. = Eleven

Question Number : 151 Question Id : 9983678805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following idiom mean?

Toil and moil

Options:

1. = Complete

2. » Everywhere
3. v Hard labour
4. = With all force

Question Number : 151 Question Id : 9983678805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Toil and moll

Options:

1. * Complete

2. = Everywhere
3. v Hard labour
4. = With all force

Question Number : 152 Question Id : 9983678806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Wash one’s dirty linen in public

Options:

1. = To appreciate one's good deeds in public.
2. v Discuss one’s personal affairs in public.
3. = To fight with someone in public.



4. = To do some ugly work in public.

Question Number : 152 Question Id : 9983678806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Wash one's dirty linen in public

Options:

1. = To appreciate one's good deeds in public.
2. v Discuss one's personal affairs in public.
3. = To fight with someone In public.

4, = To do some ugly work In public.

Question Number : 153 Question 1d : 9983678807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A person who has renounced a religious or political belief

Options:

1. = Atheist

2. v Apostate
3. » Arsonist
4. = Agnostic

Question Number : 153 Question Id : 9983678807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

A person who has renounced a religious or political belief

Options:

1. = Atheist

2. v Apostate
3. * Arsonist
4. = Agnostic

Question Number : 154 Question Id : 9983678808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A writing that cannot be read

Options:

1. = Infallible

2. v Illegible

3. #» Indispensable
4. = Ineligible

Question Number : 154 Question Id : 9983678808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

A writing that cannot be read

Options:

1. = Infallible
2. ¢ lllegible
3. * Indispensable
4. = Ineligible

Question Number : 155 Question Id : 9983678809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

One who studies history relating to the development of man
from primitive ages.

Options:

1. = Archaeologist
2. = Dermatologist
3. v Anthropologist
4. = Ecclesiologist

Question Number : 155 Question Id : 9983678809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

One who studies history relating to the development of man

from primitive ages.

Options:

1. = Archaeologist
2. » Dermatologist
3. v Anthropologist

4, = Ecclesiologist

Sub-Section Number: 2
Sub-Section 1d: 998367553
Question Shuffling Allowed : Yes

Question Id : 9983678810 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage carefully and answer the given question.

Television can be very helpful to people who carefully choose
the shows that they watch. It can increase our knowledge of
the outside world. On the other hand, there are several
serious disadvantages of television. In some countries, people
watch the 'idiot-box’ for an average of six hours. Many
children stare at television screen for more hours each day
than they do anything else including studying and sleeping.
Many studies show the people become more violent after
certain programmes. The most negative effect if the television
might be people’s addiction to it.

Sub questions

Question Number : 156 Question Id : 9983678811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is one of the advantages of watching Television?

Options:

1. = It can make us violent.

2. v It increases our knowledge of the outside world.
3. = It can improve our concentration.

4. = We can get addicted to it.

Question Number : 157 Question Id : 9983678812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to studies, what do people become after watching
certain programmes?

Options:

1. = It can make them quiet by nature.
2. = It can make them calm.
3. = It can stress them out.



4. ¢« It can make them violent.

Question Number : 158 Question Id : 9983678813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On an average how many hours do people watch the
"1diot-box"?
Options:

1. » seven
2. = eight
3. v sIX
4. = five

Question Number : 159 Question Id : 9983678814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the most negative effect of watching Television?

Options:

1. = It can make us violent.

2. = It can make people lazy.
3. = It can affect our studies.
4. v We can get addicted to it.

Question Number : 160 Question Id : 9983678815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following will be an apt title for the given
passage?

Options:

1. = The importance of Television

2. v Television - Boon or Curse?

3. = Reasons of distraction from studies.
4. = Television, an addiction.

Question Id : 9983678810 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension

Read the passage carefully and answer the given question.

Television can be very helpful to people who carefully
choose the shows that they watch. |t can increase our
knowledge of the outside world. On the other hand, there
are several serious disadvantages of television. In some
countries, people watch the 'idiot-box' for an average of six
hours. Many children stare at television screen for more
hours each day than they do anything else including
studying and sleeping. Many studies show the people
become more violent after certain programmes. The most
negative effect If the television might be people's addiction

to It

Sub questions

Question Number : 156 Question Id : 9983678811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is one of the advantages of watching Television?

Options:

1. = It can make us violent.
2. ¢ It iIncreases our knowledge of the outside world.
3. # |t can improve our concentration.

4. = We can get addicted to It.

Question Number : 157 Question Id : 9983678812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



According to studies, what do people become after watching

certain programmes?

Options:

1. = It can make them quiet by nature.
2. % |t can make them calm.
3. = |t can stress them out.

4. v It can make them violent.

Question Number : 158 Question Id : 9983678813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On an average how many hours do people watch the

"Idiot-box"?
Options:

1. = seven
2. % eight
3. v siX
4. = five

Question Number : 159 Question Id : 9983678814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the most negative effect of watching Television?

Options:

1. = It can make us violent.
2. = |t can make people lazy.
3. = |t can affect our studies.

4. v We can get addicted to It.

Question Number : 160 Question Id : 9983678815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which among the following will be an apt title for the given

passage”

Options:

1. = The importance of Television

2. v Television - Boon or Curse?

3. = Reasons of distraction from studies.

4. = Television, an addiction.
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Question Number : 161 Question Id : 9983678816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MyTeldd 7 ¥, IR Tadetl # €, 39 [ddheT & 9= & 51t SU9T S &1 8
|

Options:

1. v 3r@3
2. % giferT
3. = Tergrar
4. % el

Question Number : 161 Question Id : 9983678816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
S 3UEeT & §T &

Options:

1. v {EE
2.« eifael
3. = fereram
4. % TTelh

Question Number : 162 Question Id : 9983678817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeTEd U ¥, IR [Adetl § 9, 39 9§ dded &l aa+ a8 S 5ead 9
CEIK o

Options:

1. * 31Tg
2. % WY

3. % HHT
4. v TG

Question Number : 162 Question Id : 9983678817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
HL Sl Tcad & el eg gl

Options:
1. = HIE
2. = §Yd

3. » AN
4. v TIET

Question Number : 163 Question Id : 9983678818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad U ¥, oR Aaeul § ¥, R o0 & Tolq MEATER 34

[ T
[dcheld ] Td-d el

ag IS oS Tl (HSUeITeh )

Options:

1. =T
2. % H

3. v&H AR
4, = JAT

Question Number : 163 Question Id : 9983678818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Jwear A O, Rea Tua & v

= Y
i?légllog*{'lli 3d TdeheU <plT e <hd|

gg us G ITI (e 370d)

Options:

1. = 9T
2. % H




3. v & @
4 - I

Question Number : 164 Question 1d : 9983678819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeiad U ¥, IR [Odhetl § ¥, 39 [ddhed & ad= & I 1¢J T e
BT gl € &l

atg

Options:

1. v 39
2. % 3Ty
3. # 31T
4, = 3MH

Question Number : 164 Question Id : 9983678819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST feU 1w efeg T dEd &9 &I

3far

Options:

1. v 3@
2.*3‘]’%’
3. ® 3elallel
4, = HTH

Question Number : 165 Question 1d : 9983678820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FMYeirad Uy #, IR Tddetl § ¥, 39 [t &7 Id= & 11 1¢T T e
BT TcGH €7 Gl

19d

Options:

1. = AT
2. v 8T
3. & 949
4, % T

Question Number : 165 Question Id : 9983678820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
S feU 91T ereg T IcgH FT &l

ol

Options:

1. = oTgal
2. v A&7
3. % oAdal
4. = T

Question Number : 166 Question Id : 9983678821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyleld 7 ¥, IR Tddetl # ¥, 39 fddheT & o e S Gg1 =

JATY T T gl

Options:

1. v eIl & ST BT
2. % I ollepl BT UIGR

3. » 9Ifth & AR




4, * €T & [T 3T

Question Number : 166 Question Id : 9983678821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST el FHYNOT GATT &1 dhed &

Options:

1. v AT & ST hddl
2. % dTel ollehl hT THTER
3. = TP F 3TAR
4. = fag@r & foIw amery

Question Number : 167 Question Id : 9983678822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied T &, IR [Odeul § €, 39 [ddhed & Id= & I ¢ 7 T <6
T ST ATeraTad T & Gg! [cdhed gl

LIES

Options:

1. v Uii&eT
2. % U&dTs

3. = Ulaca

4, % UTSau-

Question Number : 167 Question Id : 9983678822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST U a7 oeg & SaT HIGaTIh AT T Tl [ahed &l

EIES]

Options:



Question Number : 168 Question Id : 9983678823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 §, IR [Oweul § 9, 39 [ddey T a2+ &L ST od1aT § 1
el aTelT 3704 TolT I § AT BT TANT HaT 3l

Options:

1. » 7egH 7Y
2. v 399 o9

3. % T UTY
4, » Mg gD

Question Number : 168 Question Id : 9983678823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTa@d ueel H, IX Ahedl A &, 39 [Thed FT ITAT
S Sa1ar & F Aea arer 39 v Sid & G891 H T ueT
LT &l

Options:

1.%34'%7&???‘?

2. v 3cdH gbﬁr

3.*3—]@'%’5‘3’

4. » TesT g

Question Number : 169 Question Id : 9983678824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MEeiEd Uy #, I Adeul # ¥, 39 [ddheT &7 T B2 S AT & 9

ATelT Aot gl

IS TT ATTDT elT T 3l

Options:

1. v gTaATHG
2. % [T uieHTor oI
3. » M9 g=ATa=ID

4, = TUTTh

Question Number : 169 Question Id : 9983678824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
St faeiwor & 912 arelm fAsheq &1

FIS Hoolel T el @ &

Options:

1. v GEI&H

2. » TaTead IATOT ar<leh
3. » ead g=a™rs
4.

® dlV[dltlen
2

Question Number : 170 Question Id : 9983678825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiEd Uy #, I [ddedl # ¥, 39 [dheT &7 I e ST TohdT & A
qTell gl [hhey gl

q9 Tl Ug ST Bl

Options:

1. » Qeeliolen [ohaT




4. % dTcplield TshaT

Question Number : 170 Question Id : 9983678825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTa@d ueel H, IX Ahedl A &, 39 [Thed FT ITAT
ST foRaT & A aTem e e &l

I didfcel Yga 3T F|

Options:

1. % qdehilelsh TordT
2. ¢ Hﬂ&'?l‘ foraT

3. = feashash foram
4. = JTcehlioleh fshAT

Question Number : 171 Question Id : 9983678826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad uy #, IR aeul § T, 39 Adey &1 ad= o St Ol Id e

BT eI 3T [ddheT 2l

LRI

Options:

1. % g4
2. % 3G,
3. = gigd
4. v @Y

Question Number : 171 Question Id : 9983678826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
Sl TdellH eleg T Hed 3Tl Tdehed &l

EESIES

Options:
1. = 8§

2. = 3G
3. = gigd
4. v RIq

Question Number : 172 Question Id : 9983678827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYl d U7 ¥, IR [ddedl § ¥, 39 [dheT & aIT He ST GATATT U6

T Gg! [ddeT a1 gl

Options:

1. v 319r
2. % e,
3. % ToIg

4, « J&IT

Question Number : 172 Question Id : 9983678827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST TATATAT eee T T8l [Aheq T8l &

ED

Options:



1. v 379T

3. = g
4, = &I

Question Number : 173 Question Id : 9983678828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyead Uy #, IR TAaeul § ¥, 39 [Awe T Td= ot S 3 Adey
il

ST 3 HeTdT ¥ g1 TeIdT g gl T TS, TG TTAT gl

Options:

1. % Thet
2. v gheldl
3. = Tewerdr
4, » glhel

Question Number : 173 Question 1d : 9983678828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFeT FT TTT M
St 3T [aFeT &

ST 3 FeldT 8 el ga0dr & dar FT TS T8
iG]

Options:

1. = el

2. v Hboldrl
3. » Ta%erdr



4. = TEHA

Question Number : 174 Question Id : 9983678829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Myleldd T ¥, IR Tddetl #§ ¥, 39 g1 [ddel of T i ST arain
& ToIT T grec;, @r @y gl

Trchy X AITAT AT aTelT gIAdT;

Options:

1. = &
2. v 3
3. % deldIlY

4, » IR

Question Number : 174 Question Id : 9983678829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeITaad wedd H, IX Ahedl # &, 39 Tl [Theqd T IIa
FL S IR & Olv Uk o T @heq &

theh h TolAT SITal dTell BN

Options:

1. = oIFT
2. v 3T
3. = deldl{

4. » AR

Question Number : 175 Question Id : 9983678830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Myeirdd 77 ¥, o fadetl #§ €, 39 g1 [dded of T+ B AT [k T
& TolT ST et gl

T SIET ST A Mg CEIGTI

Options:

1. = 3FT
2. v 3T
3. * 3T
4, = ITAIT

Question Number : 175 Question Id : 9983678830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el wea &, I) [Ohedl & &, 39 T8 AFhed FT IIa
H S Wad v & folv 3T [ashew &l

ﬁfraé‘rsﬁagﬁwﬁvd T gl

Options:

1. = 3=
2. v 3R
3. # 3R
4, = 30T

Question Number : 176 Question Id : 9983678831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeITEd U #, IR [Adetl § 4, 39 a1 [ided &7 Id- e AT 1%
& To1q 3SR farwe gl

IRA # ATATS GepX Pl IRRT Tl T oAl 31T @l 8l

Options:

1. * 3MTEr




Question Number : 176 Question Id : 9983678831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt d w2l H, IX Ahedl # &, 39 el [dFheq T IIa
= S NoFa T & fov 3T Jseq &l

HRT H AT chX hl IO el & oIl
3T BT &

Options:

1. = 3MEr
2. v Mg
3. = 3TET
4, = 3fg

Question Number : 177 Question Id : 9983678832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M U §, IR [a@eul § 9, 39 TgI [admey &l ad= HL ST 146 T
& TelT 3T eI & Ty gl

T Qlietdl SIU ] HdIx T 1T

Options:

1. * T gT-FT
2.  TYTT-TYT
3. % PI-dIT
4. » G-TWS

Question Number : 177 Question Id : 9983678832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




frafe@T mea A, I~ [weur A &, 39 T3 [FeT FT I
T S R T & v 3T aee-aa7 F7 fahed &l

q¥ Gifeldr 319 &1 YR fodT 4T

Options:

1. = FIT-FAT

2. v FTUleI-TdTd
3. % chid-hidd
4. » FS-TS

Question Number : 178 Question Id : 9983678833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 4, 39 gl [didheT DT ad=T e ST 1&h AT
& TelT ST eree-go & Taded Bl

GUATH _ Teld Uglel U Ugd )

Options:

1. = TYTT-TYTA
2. ¢ [T
3. ® TgT-T

4. % BICIAS

Question Number : 178 Question 1d : 9983678833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafel & oee &, IX [Ohed! # &, 39 G2 [AFed &7 IIa
T ST Rerd Tmer & fov 3T eree-gem &1 fahed &l

gH dal & Telhl YIS W Héu 7|

Options:




1. = TYUTI-FUT
2. v TohaR-fora¥
3. % SFIT-FAT

4. = BIC-§3

Question Number : 179 Question Id : 9983678834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myfeiiad 7er 7, IR [Admeul § 9, 39 [dhey &7 a3 B ST g Ao T
gl fadmeT 3l

Options:

1. v =W
2. % Teeit
3. = TofY
4, %

Question Number : 179 Question Id : 9983678834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ved #, I) TFedl & T, 39 OFeT FT II9
ST e[ <Tse 1 Tal fawed &

Options:

1. v wR
2. « el
3.« R
4. = F

Question Number : 180 Question Id : 9983678835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiiad U ¥, IR Aaetl § 9, 39 fadhet & o2 B ST g A P
G@'iafﬁﬁﬂ %I

Options:

1. » T35




2. % TGS
3. v UgTs
4. % UgIs

Question Number : 180 Question Id : 9983678835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST ¢& ereg T FET fahed &

Options:

2
3. v g5
4. = YgIE

General Hindi?2

Group Number : 10
Group Id: 998367386
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 998367392
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 16
Number of Questionsto be attempted: 16

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 998367555
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983678836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied T &, IR [Odeul § €, 39 [ddhed & Id= & I ¢ 7 T <6
& TG STee; BT TdhdheT g1 gl

Jea

Options:

1. v 3&h
2. % DA
3. % Ugd
4. » gaT

Question Number : 181 Question Id : 9983678836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
S RT 717 ersg & wITIGRT ¢reg T Whed AT &l

ey

e
Options:

1. v 3&h

2. % higH
e

3. = gl

4. » HHel
oo

Question Number : 182 Question Id : 9983678837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YTl ad U ¥, IR [Od@eUl § €, 39 [9dhey & Iad= & I 1¢J MY e
& TITAATRIT STeS, T Teded Tal gl

el

Options:

1. * 3TH
2. % 3E
3. =TT

4. v &Y

Question Number : 182 Question Id : 9983678837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
S few v ereg & UATIQTRY e T [Aheq 8T o

alel

Options:

1. = 3ch

2. % IF
-

3. = O

4. v ﬁfl?g

Question Number : 183 Question Id : 9983678838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYoiied 7 §, IR [aaetl # €, 39 [dded & ad= &t A7 60 1T anag
< el T Tg! e T gll

3YDT UL GATH g ehr gl

Options:

1. v ETETE YdeTel




2. % gqad A Yl
3. * YWY IdATTRTo
4. % ATHH HdPlel

Question Number : 183 Question Id : 9983678838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST fSU 910 QT & Tl T Tdar [&Fheq BT

3qenT adTeTT HATC & TehT g1l

Options:

1. v G s{certel
2. % %FI%FFQ 1 AT HcIhTel
3. = HIATTT TdHTdSRTd

4. = oo HcThTel

Question Number : 184 Question Id : 9983678839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeed ¥ §, IR Tweul § 9, 39 [Adhey @ ad= o3¢ S 951 arad 9

PT [AdeT gl

qe TS o G Q1T

Options:

1. = TS aTar g
2.« Yol AT

3. * GZh aTdY
4. = AT D dTFd

Question Number : 184 Question Id : 9983678839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
ST HATr arFg $¢ T Tdehed &l

S Sl o 1T TTT

Options:

1. « T8 g

2. v Glel Iy

3. = H-’:-I:ci-d CIER?

4, & TATAIR T

Question Number : 185 Question Id : 9983678840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdthed B T B ST gl ATFT A
&7 e gl

#Y UTH Ueh B g 37X ag 9gd el gl

1. » T ara g

2. % TreTTaTed
CIEE

3. v 9 a19d

4, » JTATATIh dTd

Question Number : 185 Question Id : 9983678840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST TET areFg A T [Gheq &l

ALY I TF kR & 3 Ig ST ol gl



Options:

1. = T8 gy
2. = [ayreraraeh
arer

3. v H-gcrd GIER)

4, = TATAIIR T

Question Number : 186 Question Id : 9983678841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyor@d vy 7, o Aaeu § 9, 39 Raew & = o S ST e
T IL 3BT [dheT gl

Options:

1. * MA@
2. % @
3. % Jof
4. v ITHTIET

Question Number : 186 Question Id : 9983678841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST THITeldT esC ol HEH TSI Tdehed &

Options:

1. = 3TALRT
2. % el

3. % el
4. v ITATTET

Question Number : 187 Question Id : 9983678842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FETeTed Uy #, IR TAadeul # ¥, 39 [ddhed &T I & AT 14h €A &
ToTU STgera 9Iec, T Fd 3D [dhed gl

HeT H o ST giv & Tolq Pgl

Options:

1. v STl
2. % STelh
3. = gTeldh
4. % greTent

Question Number : 187 Question Id : 9983678842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
T NaFd TUTT & fIv Sgaad e T G998 3ol [dFheq &l
a

FETT H I eI &l & folT gl

Options:

1. v STelehl
2. = STelh
3. = STelh
4, = STeTehl

Question Number : 188 Question 1d : 9983678843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy 7, o Aeeu § 9, 39 Raew & g9 o s Rw 7y areg
& ToIT Ugr & A, BT JaX 30T [adheT 3l

31 T &S o7 3l

Options:

1. * QITdeNdd



2. * GIAuIeed
3. v IRHEdH

4. » QUidTerdeD

Question Number : 188 Question Id : 9983678843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
St foU 710 gy & OT U8T & AT T 99 35T @oeq &l

I F<IT EI5el o9l &

Options:

1. = HaTfdcTIdeh

2. % GIdgardeh

3. v AR
4. = UIdCIIdsh

Oy, L
Question Number : 189 Question Id : 9983678844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied U &, IR [9detl # 9, 39 [adey &f ad= & AT &7 M7 arad
& ToIT gid & 9, T gad 30T [ddeT 2l

ST |TATT Ugam # A #eg, hify)

Options:

1. « AT
2. = Gegrd
3. = Yhard
4. v Taegd

Question Number : 189 Question Id : 9983678844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
St fU 910 g & Tow gicad & #AG &1 §od 3o dhed &

ST ATATA q§u|ﬁ H AT Acg SIov|

Options:

1. = FHATGeTS
2. = HAETA
3. = FehaTd
4. v e

Question Number : 190 Question Id : 9983678845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TgTellad U #, oR Tddeul § §, 39 feihed @7 o= HY ST hisa # &U
1T S1EE;, & 39 37 [2¥ arad Yo+ &7 951 [omed gl

Options:

1. = (g ThdT SEL ST ST AR T

2. » Tg Tdhara (3T Bl
3. v () e & i &R @I ATt 8

4, % (37) oD TGT o1 T3]

Question Number : 190 Question Id : 9983678845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST TSk H 2T 910 e & HAAR 3cdA T&Y aTIh TdATH
T Far ahed &l

Options:

1. = (AR TR gl S8 ST arfgv|
2. = Ig foramer (3T &l
3. v (#) a1 & et 9 @aT = g




4. % (3oT) TR TR ol 33

Question Number : 191 Question Id : 9983678846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fgierad U ¥, IR [Aaeul § 9, 39 fadhed & o2+ o 1 1T T ggTer
T TET 37 ATeAT TIheT gl

ST ST GlehT TeherTT
Options:

1. v TSI Uik aTel UT: 3T P PR g
2. % Thienl FTAT

3. = SEAIC, PIH Tl

4. % ThdT BH B BT & AT T B

Question Number : 191 Question Id : 9983678846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST fU 10 FgTey T TEr 37 arelr fasheq ¥

<) ghTe HIRT YshdTel
Options:

1. v 931 URATE gTel U= ST FTH Fd &
2. = ThTRT T

3. * SEAIG HIH el

4. = ToRET A FT Fld 6 Hel of Fal

Question Number : 192 Question Id : 9983678847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fgieiad Uy ¥, IR [aaeul § 9, 39 fadbet & o1 o S 1U T ggTer
T T 37 ATelT ey gl

ot et e, RS

Options:

1. * 9 ©f gl ST

2. v 3T AIST 370 g1 I 3T
3. * 3TUSIT YTHTT M gl AT

4, = GG g &AL g ST

Question Number : 192 Question Id : 9983678847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST feU arv Feral 1 d@er 37 arelm fawed &

g7 Sal T, ey A

Options:

1. » € ©l hal STl
2. v Y4l dIeT HUa &7 HI1H AT
3. % 3OAT HIHTA NI JT SATAT

4, = g # & IHT & SATAT

Question Number : 193 Question Id : 9983678848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR [Aweul § 9, 39 fadhet & o o S 10 1Y ggTer
T T 37 ATelT ey gl

cd 3¢ Thyg aac dadT &

Options:

1. * 3 & IS BT SIS P




2. v T ST FIT g
3. % GHYT AT BT
4. » PO Al BH T g

Question Number : 193 Question Id : 9983678848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT

ﬁ%@?ﬁﬂﬁﬁi‘ﬁﬂﬁrﬁﬁmm FETRRY

3T 3¢ g Fac doar &

Options:

1. ®» 3¢ & §Sa T SASI el
2. v o Sffal AT BT

3. = AT =TAId ]

4. » T AT FA G

Question Number : 194 Question Id : 9983678849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyfera vy §, oR Oeeu § ¥, 39 ey aragT e s &1 M8
ATlIThdl T Tga1 3 aTell [ddey gl

ST {g oET qaTeIT

1. * SST ]

2. v ST JATCHT ST AR
3. = TOHIT ik GHS B BT

4. % HEAR ATh

Question Number : 194 Question Id : 9983678849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST &I 318 SlehlTFcddl T Fal 37 dTell [dhed &l

Options:

1. = SIITST Sl
2. v SIET IEAT 3T SFagN
3. » foaT O gHST F1H FI]

4. » FHASAN cgTod

Question Number : 195 Question Id : 9983678850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tdhedl § ¥, 39 ey BT T e ST Idrdr g
ST, T, 3MT%IY 3ATIE, |TelT P Yhe P & [l Thg g T W fhar
SITdT 872

Options:

1. * I G

2. v Taeng gaa g
3. « A= g
4, » Teremur

Question Number : 195 Question Id : 9983678850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl weat &, I) [Ghedl & &, 30 [Aheqd &7 TTT ™
ST ST § TR eeh, U, 3Ry 317G HIEl $I The el &
e g REer 1 w=er TRaT ST 7

Options:

1. = 3&30T fga

2. v [9vAT ga+ e




3. = Taavor Es
4, = TaEAIOT

Sub-Section Number: 2
Sub-Section 1d: 998367556
Question Shuffling Allowed : Yes

Question Id : 9983678851 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

St Tad T ey @l g Yeie U 3R U M Uy IeR

3T JH HIeIed &l 30T Jg! § & BT ATgd gl al AT & T &0 &
SUANT B YAk &7 TFgT< WA BT &7 g1 Tor Taremiea & g sr=
A& DI U & oIt gidl g, o TOTH g1 oLl TaeT a1g atell ®f 9@ Pgl
37X G TG eTell el TeleIm hgl? 9 hl Teh Ggadl olgHT g df SEd
GIERIAT Tl ey TUT WYY T G 37Terel 9 GpT AT gl eg TR, Tiell,
PIeATI 3R Gal-GlelgET # STl 31 ag o feremef & a1d w ufeg G
¢ d@dl g IHhT aTeT H &S ST g, ST Taemdf v+ uiedl g1y ¥ 59 ayf

T YU §TAT 8, 34 &I g SIHATET UgATAT 3l

Sub questions

Question Number : 196 Question Id : 9983678852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘WIS ol UT JoI H & DT BT a7 A 32

Options:

1. * U &l &c, T Al

2. v TS Pl UAT FTOT & IR F]
3. * IYdHT AT HEAT

4. » I & BT

Question Number : 197 Question Id : 9983678853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e Rremeft Foram T8t B

Options:

1. * ST TEA b oI&T W &1 T@d g
2. = Sl GHY T GSUAT Tgl Bd

3. » vg faam 731 =gy

4, v S AT AT DU T ol B &

Question Number : 198 Question Id : 9983678854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IO § A ory] by gl AT 372

Options:

1. v ITTT
2. = Torem
3. % YA

4.+ qg

Question Number : 199 Question Id : 9983678855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZH I I 9T Gga & TATIdTdT a1 a2

Options:

1. * Faeil
2. % Tadl
3. v HIdT
4. % qEI

Question Number : 200 Question 1d : 9983678856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 IVE DI DS IUYh ATUd 8l

Options:

1. = Tl AT
2. v AT 3N oA
3. = BT Sia-

4, » GHZ T UL




Question Id : 9983678851 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

e {9 I FT LT qdeh T6 3N &0 9= 7 & 3cad
2l

I IA ATAST T 3T A A e FIAT B @1 A AT F
Tcdsh &T0T KT 3UANT K| Tcdh &0 JFgRT YaIfd FT &0T g
ToteT Taeznidi=ar hr Tfoe 319e o8 ! 9Tet # ol gl &, d
fersmar gl a1 Taem <mes arell 1 g@ Fal i g aEa
aTell ST TISAT FBI? STH T Uk TR F&AT & o G FLEIcl
| 9 Y T ATIAT FT JG ATl J EhI g3 &l I8 oI,
aral, Ffeansit 3 Adt-afegEt & S &) a8 o faegndf &
AT W IRAH HT g3 ST § 3HAT Tl H 8 Sar &, S
ozl 31uet IRAAT 8T & 39 Y T guc gl g, 38 g

ag AT YgaTar &l

Sub questions

Question Number : 196 Question Id : 9983678852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘ﬁﬁwaﬁmﬁﬂﬁrﬁdqwm’qﬂ 4T AT &7

Options:

1. = ofaST &I &5 FT el
2. v AIAST HT el STST F AN Fellel]

3. % 3Rl HATET Tl

4. = 38 TT Flal

Question Number : 197 Question Id : 9983678853 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

g Taeamel TemH a8r F?

Options:

1. = ST AU & o8 W &Tel & &
2. = S AT T FGUIET gl Fd

3. = Totet fae@m aiet amfew

4. v ST 3Ust F&ET F I H o9 B &

Question Number : 198 Question Id : 9983678854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # @ gy fRa st T 87

Options:

1. v HAEIAT
2. = Tagar
3. = URSH
4. = g&

Question Number : 199 Question Id : 9983678855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = Agell
2. % Ucall
3. v AT
4. = @Y

Question Number : 200 Question 1d : 9983678856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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